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PREVIEW QUESTION BANK(Dual)

Module Name : EARTH ATMOSPHERIC OCEAN AND PLANETARY SCIENCES - 702
Exam Date : 28-Feb-2025 Batch : 09:00-12:00

I\Skr; Client I%u estion Question Body and Alternatives Marks

Objective Question
1 1 2.0 0.50

— LA YT T

3. Northwest
4.  Southeast

afg frdr o &t 59 YR & @ o § & gfRorafRaw fir fGer i &
ST §, o 38 g & 3caw fgur Fr gefe
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Objective Question

2 2 2.0 0.50
If water of pH 8 is diluted 100 times with neutral water (pH = 7) then it will

become acidic.
remain basic.
become neutral.
become heavy.

B DOURIE

afg 8 pH @Tel STel &l 3l STel (pH = 7) & #1Y 100 aR SRIeIC
(A@]pd) famar ST ar 7g

1. 3FT &4 S0
&TRT §ar B

3T (vgge) & S
HIT ST (§AT deR) §4 Sream

A ow N
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Objective Question

3 3 2.0 0.5¢
Fifteen distinct points are randomly placed on the circumference of a circle. How

many distinct straight lines at the most can be formed by pairs among these

points?
1. 105
2. 455
3. 30
4. 210

0% Jod H 9 9 15 et WGt & agos (@) 0 & w@r . gl
3ol gyt & @ oA F1 gAeT WF HiOHaH o Rffe @l @ sag
ST T@FHr 872

105

455

30
210

= P

Al

A2

A3

A4

Objective Question

4 4 2.0 0.5¢
In a population of microbial cells, the initial population is 50, and the growth rate

is 0.1 per hour. If the population grows exponentially, what will the approximate
size of the population be after 10 hours?

51
82
136
156

Lol e
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et HIRFHT F v FATE (Aiqerer) # 3o gRfds dEar 50 § aur
36 gefier 0.1 wia der g1 iy sadr dear (digees) A aRerdidr
(TFEArEAfAIE) gefer g A 10 6 & a1 3hr FARE (Aqeer) #1 Sarsar
TR 4T T ?

51
82
136
156

N

1:'\1
{82
A3
?A4

Objective Question

5 5 2.0 0.5
The given figure shows data points and a line fit by least squares method

between profit in ice-cream business and mean temperature (T) for a city. Which
one of the following inferences can definitely be drawn? (The correlation
coefficient r is also given in the figure)

100 T T T T T T T T T

80 (@

(=2]
o

m
N/

Profit (million ¥)
N A
o o

Profit = 4T - 86
0 r=0.83
20—
20 22 24 26 28 30 32 34 36 38 40

T (°C)

1.  The sum of the squared values of differences between the observed and
expected values of temperature is the minimum.

2. 83% of the variation in profit is explained by the variation in temperature.

Rise in temperature causes profit to increase.

4. At 25°C, estimated profit is 14 million 2.

&
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A o o B # uw ey #H 3T argAT (T) JUT HSEHH F cgadrd H
UTST @ (Profit) & Hihs! # 3R 373 ofiee TR #AYs (vgaa# a9t Bf)
garT fibe it axer Y@ @ g I g fAeafafaa & @ e sy (shi)
& ARTd dR R @%rer ST whar 87 (A9 A #@gHay qune (HIRE
FIfpfATe) r & o Rar o #

100

80 O

[=)]
(=]

20

Profit (million ¥)
F -
o

Profit = 4T - 86
r=0.83

_20 I L Il I 1 I L L I
20 22 24 26 28 30 32 34 36 38 40

T (°C)

1. a9AEE & M8l e geanflid Al (3estes Us vhHURRs o) & A
FeRT & aefichcd Al 1 AT FYeATA g

2. Ied A # 83% faeRer av@e # gu fawor § v g

3. dmHe # geftr g1 fr aotE @ oer F gefdr gl gl

4. 25°C AIYAT 9 HeJATiad ol 314 fAferger gl

Ay
1
2
A3
3
M
4
Objective Question
6 6 2.0 0.5¢

The average of seven numbers is 71. If we exclude one of these numbers, the
average becomes 75. What is that number?

1. 75
2. 74
3. 73
4. 47
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T EHT (F79)) F T 71 g I gH ZH ¥ UH HEAT H ger & ar
Ha 75 g ST gl 98 E&AT T 87

1. 75
2. 74
3. 73
4. 47
Al
1
A2,
2
A3
3

A4

2.0 0.5(
Choose the option to fill in the blank that will make the following statement
logically correct:

THE NUMBER OF OCCURRENCES OF THE LETTER “N” IN THIS SENTENCE
IS CORRECTLY COUNTED AS

SIX
SEVEN
EIGHT
NINE

Pla 3o

R Tua # e & fav ag Bew 790 St e Fya A arfdes &7 & #@r
arfed & &

THE NUMBER OF OCCURRENCES OF THE LETTER “N” IN THIS SENTENCE
IS CORRECTLY COUNTED AS

SIX
SEVEN
EIGHT
NINE

e b

Al
A2
A3

A4

2.0 0.5¢
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In a board meeting of 20 directors, 6 shook everyone else’'s hands but the
remaining 14 did not shake each another's. The total number of handshakes in
the meeting was

26
84
99
190

R S

T a3 F o THd 20 FUS 39T ¥ F 06 o UdS 3T & AT B
fAemr Afher AW 14 Sl & T g A Y AQr AGmT| 59 95w A g5

@y o) i For dear gen

26
84
99
190

= W s

Al
fAZ
f\3
{\4

Objective Question

9 9 2.0 0.5
Choose the correct chronological order of the following:-

A: match, B: trophy, C: toss, D: result.

1. CADB
2. ADBC
3. C,BAD
4. D,C,BA

e ffa aredt & w7 FIGHHA A A -
A: #=, B: g, C: 2ig, D: Raree

1. C.AD,B
2. AD.B.C
3. C.B.AD
4. D,C,B,A
Al

1
A2,

2

3
Aty

4

Objective Question
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10 10 2.0 0.5
A spherical ball is placed inside a cubic box. If the diameter of the ball is same

as the sides of the box, what approximate percentage of volume will be empty?
12%
24%
36%
48%

ey R

UF MeTdR 3G H Uh GaHR (Ffas) diad & 3Hex @ | 3y g &
qTE aied AT ST F FA g ol 999 F IAde (ATegH) F eI et
gfarrd T @relr Wwan?

1 12%
2. 24%
3. 36%
4. 48%

Al
A2
A3
A4

Objective Question

1 2.0 0.5(
If | walked east 100 metres, turned right and walked 60 metres, turned left and
walked 150 metres and turned left again, | would be facing

East

North
West
South

g Dy

afg # qd f&ar # 100 #Hiex Te= & geAd arfedl g7 &Y 60 Hiex =e 3R
T aTT #3 FX 150 HeX f gt a7 = B @ a0 {3 A5 @ A Hg
forg feer & grem?

BowW oM
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Objective Question

2 12 2.0 0.5(
The words TEST, EXAM and EAST are coded as 1382, 2182 and 1937 but not

necessarily in that order. How would the word MATE be coded?

1 9321
2. 7321
3. 7312
4. 1982

TEST, EXAM @1 EAST &I 1382, 2182 Td 1937 &13 fam aram § T sy
T8 & ag 3Wr &# A 8 ar MATE e & @ |1 fFar sreen?

1. 9321
2. 7321
3. 7312
4. 1982
ALy
1
A2
2
3

A4

Objective Question

13 13 2.0 0.5
All those who pass an entrance test take admission into a certain institute. Out

of these, some graduate with a degree in 2 years while some fail and are
removed, and all graduates from that institute get jobs in the same year. In 2022,
no one took admission in that institute. Which of the following does NOT follow
necessarily?

No one wrote the entrance test in 2022

No one passed the entrance test in 2022
No one graduated from the institute in 2024
No one got a job from the institute in 2024

ol

3 g3y i waer g A 3t g € v AREa avue & wawr o € gad
ﬁ@#2aﬁﬁ%ﬁ%ﬁmﬁm§ayﬂﬁhﬁ?mﬁ
T & geT T I, 9UT 39 WEU H 9 g arel g TATR @ 39T
ay Sie (FE) Rer amar| a¥ 2022 A A F o 39 GraE # gar A7 o)
frafafEa # & sl Fua 3faada: oy a8 gar?

1 aﬁzozzﬁaﬁéaﬁmrqﬁwﬁmaﬁz_pm
a¥ 2022 # g o waer qliem # Sechol & g3

a¥y 2024 & 5@ dEUE O R F waw A R
a¥y 2024 ¥ 3O U ¥ R Y o St AET e

B
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Objective Question

14 |14 2.0 0.5(
Frank, Sam, Tom and David came first, second, third and fourth in a race but not

necessarily in this order. Only one had first letter of position matching that of his
name. If Tom came first and Sam did not come second then

David came third
Frank came fourth
David came fourth
Sam came fourth

o b o

Frank, Sam, Tom UG David U& &5 & First (94#H), Second (aﬁ’c‘-ﬁ'ﬂ). Third
(i) d4r Fourth (T T W 31T fhq HfHarda: 38 wF & 7611 Had
Tk I 3Hb AA & TIH AR TR glel drell T T g3 | 3 Tom ger
Y W AT AR Sam & ¥ 9 67 o1 dr

—_

David Y TAS oX o7
Frank T¥r T 9T o7
David =Y FUTT 9T o7
Sam T FTAH G AT

Ll

{\1
fA2
:A3
{\4

Objective Question

15 |15 2.0 0.5
In the fictional country of Numberia, which of the following provinces is the odd

one out?

SONECON
CUGHUSTER
FATWOHUM
CAFIVENGUS

el
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AT & FoudlcAs ¢ & F=afof@a # @ Fia a5 vy A9 87 @rar
(32 a=T 3M32) |

1 SONECON

2. CUGHUSTER
3.  FATWOHUM
4. CAFIVENGUS

Al
,:«xz
A3
{&4

Objective Question

16 |16 2.0 0.5¢
Which of the following pie-charts depicts the distribution of students in the five

subjects such that physics and chemistry get equal number of students, 40% of
the total go to the life sciences and remaining are equally divided into maths and
earth sciences?

1” 2"
3‘ | e
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Afef@a & @ #l9 gr ug-arg, urg reer-seer Avat & ot & 59 9B
& faavor (BEdeges) &1 gefar ¢ o #ifds aae iR s [as #
AT AT A T g, F OE F 40 widera Shafaare & gorar arr g aur
AY g o F A0 IR ufTT F ave suer Qanfaa fear mr g

1” 2"
3‘ | e

:Al
A2
:A3
A4

Objective Question

17 |17 2.0 0.5¢
How many 4-digit numbers can be generated from the digits 1, 2, 3, 4, 5 such

that no digit appears more than once, and digit 1 is always somewhere to the

left of the digit 27
T 72

2. 36

3 "2

4. 6

31,2, 3,4,59 4 311 (BF5e) & et dware afed & s wshdr § &
0 YR g &F Sud #1F 3/ v aR @ 30« ag v AR 3w 1, @i
3F 2 F FEI IS 3T A

1. 72
2. 36
3. 12
4. 6

Al
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Objective Question
18 18

A4

2.0 0.5¢
Which one of the following Venn diagrams is NOT consistent with the following

statements?

All Aare B
No Dis A
Some A are C

O i\ @

@) 54

f¢u 1T 9a srgATA (Venn diagrams) # & id @1 ArAfaf@d Fual &
aﬁmaﬁ??

it A, B &
FS D, A A&

fﬁA,c%

A

O 2>\ |®

@ B, A

@O/ ok

Al

A2
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A3
A4

Objective Question

19 19 2.0 0.5¢
A square sheet of 10 cm sides is folded along its diagonal to form an isosceles

right triangle, and then hypotenuses are folded successively two times to form
isosceles right triangles. What is the length of each equal side after the third

folding?

1. 0.625cm
2. 1.25cm
3. 25cm
4. 5cm

10 Tt 3[aT ATl vs R e A sES fOFE (s fr IR A
HSFR U FHGIIEE FHHIOT Feger qerar arr AR 3HHR A6 FAR ar AR
Foll (Teiest) P 3 FhR Higl I & woefaary wxanror FHeper ae
TF| WY G/ AZA F a YAF GA HS H G F=2qr 32

1. 0.6253#r
2. 1253
3. 253
4.  53HAT

1

2

3

4

Objective Question

20 |20 2.0 0.5(
A water bottle costs ¥ 20 that includes cost of the bottle. If the water costs ¥ 15

more than the bottle, then what is the cost of the bottle?

1 250
2: TH

3. ¥7.50
4. %10

U gl Fr arae FEdr aerg 220 8, H aad & o o afAe g iy
gt Y oRTg Side B derg & 2 15 JA¥E g ar digd B derg F=24r geie

2250
g5
27.50
210

et b Rl
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1
A2,
2
A
3
Ay
4
Objective Question
21 702101 2.0 0.5¢
A hornblende bearing metamorphic rock formed very close to the
surface, within the stability conditions of andalusite. This rock represents
metamorphism.
1. Amphibolite facies
2. Hornfels facies
3. Granulite facies
4. Greenschist facies
UsToESe T TR arell a3 & FHd HAg F UNH U gleteois
IFd TAART A S=iT| Tg A fF¥ TR & FICROT HT 30T
TEJA Al § ?
1. TFhIEldge doeolt
2. glaAde Heratofl
3. JgersT HelaTolr
4. IFAc Foregoflt
Al
1
A2,
2
Ay
3
Aty
4
Objective Question
22 702102 2.0 0.5C
When did the first multicellular life forms appear on the Earth?
1. ~541 Ma
2. ~635Ma
3. ~2500 Ma
4. ~4500 Ma
G R oA HAY TERIRIBIT ST TI6T The §U?
1. ~541 Ma
2. ~635Ma
3. ~ 2500 Ma
4. ~4500 Ma
Ay
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A4

Objective Question
23 702103 2.0 0.5(
What is the main characteristic of the Cryogenian period?

1. The appearance of the first land plants and animals

2. The occurrence of extreme global glaciations known as Snowball
Earth

3. The rise of the first oxygen-rich atmosphere
4. The extinction of all marine life

SIS [e12eT hTel ST FTT T&T0T il AT 8?2

. UUH Tl gl AR 9ifoat #r gt

2. A AR fgHeiet &1 gl o fgwdie ged (w=itarer 379) sfrsvea
g

3. WYUH HEISTT-SgX aTcATaRoT &l 3eeTde
iy gaqr Sfal & faedsT
M,
1
A2,
2
Ads
3
M
4
Objective Question
24 702104 2.0 0.5(

If the half life of "*C is 5730 years, then what would be its mean life?
1. 16529 years

2. 8264 years

3. 4132 years

4. 12100 years

I 14C T 31Ty 5730 ¥ & oY 3T 3T Y Fohctair gl 2

1. 16529 a¥
2. 8264aY
3. 4132ay
4. 12100 @y

Al
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25 702105

Objective Question
26 702106
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A2

A3

A4

2.0 0.5¢
A mixture of diopside and anorthite begins to melt at a temperature of
1274°C at a fixed pressure of 0.1 MPa. The degree of freedom
representing this system state is )

T
2.
L
4. Non unique value

0.1 MPa & &ad g9 &7 g3t & 1274°C & d9AT & 3H-91H
sACATSs 3R TATATSe @ Ush AT ees oerar §, 39 JF 3 Ear $ir

Tadaar #ife gl
1. 0
2. 2
3. 1

4. AT AT
Al
fxz
A3

A4

2.0 0.5(
Kamacite and Taenite are dominant constituents of which group of

meteorites?

1. lron meteorite

2. Achondrite

3. SNC meteorite

4. Carbonaceous chondrite

daraTse 3R earse o |ofg & 3ehl-Is & yoE ueH 87
g Iear-fUs

THigee

SNC Foa-fig

FEATHTT HIZST

e O e

Al
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Objective Question
27 702107 i , 2.0 0.5(
The rake of slickenlines on a thrust fault plane 250°, 40° NW was

measured to be 90°. The plunge amount of the slickenlines is

1. 10°
2. 20°
3. 30°
4. 40°

&9 do 250°, 40° NW 9T QSI&TT ah 3TdaTHeT ol HTeT 90° 9TAT I1AT| 94807

& AT T AT gl

1. 10°
2. 20°
3. 30°
4. 40°

Objective Question
28 702108 2.0 0.5(
Which one of the following oil-fields belongs to the Cambay Basin?
1. Geleki
2. Lakwa
3. Charali
4. Kalol

o=t 3 & leT &1 dor-817 o ST 7 B2
Jrorhr
SeRaT

B oW N =
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A3
A4

Objective Question

29 702109 2.0 0.5C

Which one of the following sediments compact at the fastest rate during
shallow burial?

1. Quartz arenite

2. Mudstone

3. Arkose

4. Grainstone

%1 & @ leT a1 37awie o Jdfede & digdd a7 & gasid gidr g2
1.  FdTEST AT

Objective Question

30 702110 2.0 0.5C

The Euler pole of the Cenozoic plate motion of the Indian plate is located
in

1. Australia
2. India

3. Africa

4. North America

HRAT Tole & [AeATsigeh tole aTHeT &l Jo Yd H Fyag?
1. 3meeiaar

2. ARG

3. 3T

4. 3T HATRET

Al

A2
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A3
A4

Objective Question
31 702111 . . ) ) 2.0 0.5(
The movement of soluble and fine-grained material downward with

descending water into soil B horizon, where re-deposition or re-
precipitation occurs, is known as

1. Rubification

2. Hydrolysis

3. Sapping

4. llluviation

qamharq&waﬂa:ﬁwﬁﬁﬁaﬁaﬁgvﬁ%mwsm
# I, STET Yol - Herdel/Ueha0T 3R GoT: 37qaT0T §1ell &, T Shgelll 672
1. Sfafthehaet

2. SA-3qUCT

3. I (Hiyr)

4. TFEAE (Sec]fauers)

Objective Question
32 702112 2.0 0.5¢
Under weathering-limited environment

1. thick saprolite develops

2. thick debris cover develops
3. no or little soil develops

4. soil formation takes place

39eTI-EIAT araraRoii gem3ii & ’dad

1. He dvase [ ad gid &1

2. U TP I Uk AT H1a30T [awfad g S 2|
3. UehcH w6l AT UST Hal [aehiad sl g

4. a1 AT BT
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Objective Question
33 702113 . . . . . . 2.0 0.5C
Which one of the following is used in remote sensing to detect soil

moisture?

1. Microwave

2. Optical

3. Thermal

4. Hyperspectral

=T 7 & sl AT Yo TdeeT & ATEIH A FHeT H 77 Y Sire & foIw 3ugher

H ATIT SATAT 87
1. FEHAEN
2.y
3. 3IsA
4, TRT-gUTHHAT
1
A2y
2
3

A4

Objective Question
34 702114 2.0 0.5C
The zoogeographic transition zone called Wallacea is bounded by

1.  Wallace’s line to the east and Weber's line to the west
2. Wallace’s line to the west and Weber's line to the east
3. Wallace's line to the east and Lydekker’s line to the west
4. Wallace’s line to the west and Lydekker’s line to the east

S sitalfor ST JTel O Ao e €, qwmgard
1. & 9 e YT & AN R o da YEr d

2. 3 QT YT ¥ T IR 3 Ao Y

3. O 3 o Y @ A aRa # e Y @

4. & FrSaHT TEr W Y e o o Y @
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Objective Question
35 702115 2.0 0.5¢

Which one of the following statements is INCORRECT about Coriolis

force (CF)?

1. CF is the cross product between the rotational vector of the Earth
and the velocity vector of the moving object

2. CF is the maximum for motions perpendicular to the Earth’s axis

3. CF increases with increasing distance from the Earth’s axis

4. CF affects west-east winds over the equator to deflect them in
vertical direction

FIRANTT g1 (CF) & Aoy F F=Taf@d & 8 $i T1 FU7 Taa &2
1. CF gzl & goie afeer 3R el aeiraAsT a&g & a9 afeer &

U &
CF g2dy & 3787 & 3taTeR a1fd & folw #gaa g
gt % 3187 § {1 5o T CF FoeAT &
CF #-HEY W1 & 3R Jai-HTRuHT gar3it i FeNfad Y 3o FtaTer
e d Az gar
Al
1
A2y
| 2
A3
3

A4

Objective Question
36 702116 2.0 0.5C
A transfer of westerly angular momentum takes place from the Earth’s

surface to the atmosphere in regions of surface
easterly

westerly

northerly

southerly

gdl i ddg & qfRuHA HIofir FA9 T aTcreaRoT T FAHCROT T
&t A gar g

o,

CIEEE
EGEL
Zfeofr

ol g

il

Al
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Objective Question
37 702117 ) . i 2.0 0.5(
Water-layer weathering primarily occurs on

1. shore platforms
2. strath terraces

3. duricrust tops

4. stone pavements

SToI-IXd 98T YHE: Fgl ol 87
1. dET SoehIEy

2. TYIRHN R

3. Teuudr ot ux

4. 9Al Fefed

Objective Question
38 702118 . . . . 2.0 0.5¢
A zone of coalescent deposition from adjacent prograding fans is known

as :
talus cone
bajada
megafan
erg

SHHAUIT JE@T & AT T &g arel 3ad &l FEd Bl
Q’mﬂame@

il

N

4 3
24
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Objective Question
39 702119 . ) ) . 2.0 0.5(
Which one of the following is the correct arrangement in up-slope

order?

1. glacial table - kettle lake — bergschrund - firn
2. kettle lake — firn - bergschrund -glacial table
3. kettle lake — glacial table - firn - bergschrund
4. (glacial table - firn - kettle lake — bergschrund

foe 7 @ T &1 37A, Tl W IR A 3R & AU wg) swareyd
HH?

1. RAEN gea- Raerfde-— a9t — Fuifesa (ve)
2. RHEIATS- FoIgH - 974 - BARN g
3. f#eIfcea-— AR g - worfle# - F9t33
4. RHAE 9T - FUIRH - RHIT- T8

Objective Question
40 702120 2.0 0.5C
Which one of the following is the correct sequence of soil orders with

increasing humid conditions?

1. vertisols > mollisols > spodosols > oxisols
2. mollisols > vertisols > spodosols > oxisols
3. vertisols > mollisols > oxisols > spodosols
4. mollisols > vertisols > oxisols > spodosols

FET T FITE FT TGN &5 3T & AT TEY IeIohed [eie=d & § T AT &7

1. afcdleq > Alendicd > TAEAed > HFdaied

2. Hiobed > afcdied > TAS™ed > TFdded

3. gfcHred > Aledied > AFddAed > TAEAH

4. Al > dicHled > Fddled > TAE™led
ALy
1

A2,

2
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Objective Question
41 702121 . . 2.0 0.5C
The Earth’s gravity field from surface to the centre

1. decreases uniformly

2. increases in the mantle and decreases uniformly in the outer &
inner core

3. increases in the mantle and decreases gently in the outer core and
sharply in the inner core

4. decreases sharply in the mantle and gently in outer and inner core

qAET T I[Fcd &7 Hclg ¥ e 9l AR

1. URSI H HedTg

2. YR Hdeare IR aeg AR IARF ps A vasa A gearg

3. UAR H 96l ¢ AR aed I8 H ALIH §T I 3R TGRS His 7 dig
T UCATE

4. YER #Hdig & @ 3R aE v 3R HIs H 7ALIH ST gedr s .

Al
,:«xz
A3
A4

Objective Question
42 702122 . . . , L 2.0 0.5C
Which one of the following combinations of radioisotopes produces the

bulk of the heat generated within the Earth’'s continental crust?
1. 235U, 14C and 137CS

2. 238 147Sm and 2°Th

3. 8L, 22T and 40K

4. 23| 4K and 24U

et 7 @ USAreeA aREiae! #1 Fid @1 Thiee qeEr & Agedag
TEE F 3o 3SAT & HTUHI ST F Searfed Har &7

1. 28 14C 3T 1¥7Cs
2. 238 147gm 3¥ 240Th
3. 238, 292Th 31k 9K
4. 25, 40K 3 234y
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Objective Question
43 702123 2.0 0.5C
If F, V and H are the Earth’s magnetic field and its vertical and horizontal

components, respectively at Colombo, then

1. F>H>V
2. F>V>H
3. V>F=>H
4. H>V>F

IfE Frerral 9T F, V 3R H FAen gl & gradhr a1 3K 3 3t
IR &faT geh g, a

1. F>H>V
2. F>V>H
3. V>F>H
4. H>V>F
ALy
1
A2,
2
A
3
Aty
4
Objective Question
44 702124 2.0 0.5C
The declination of the Natural Remanent Magnetism of a rock unit is a
measure of

1. the latitude of the formation of the rock
2. its longitudinal movement

3. its latitudinal movement

4. amount of rotation about a vertical axis

Torelt Aer TS T TTehicten 3afRIse Yoaehcd &1 [GerdTal Toie=t & & feerent

A AT 82

1. d-fAAToT & 3187 F

2. FH® IeICEd I &

3. ZHG H&AMY I1fd T

4. 3HF AR 38T & IR: GUTeT T AT 7
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Objective Question
45 702125 2.0 0.5C
The magnitude measured on a Richter scale

1. is valid for all epicentral distances
2. does not saturate
3. cannot be negative
4. underestimates the magnitude of Great earthquakes
ReFeT Fher 9¥ AT 3141 9iRATOT
1. | ArfRrehal 1 g & fav A g
2. A el EIAT ¢
3. FUcHS g gl AT &
4. TARATST el & TRATUT T Ja3iTehele] Ll ¢
N
1
2
oF
3

Objective Question

46 702126 2.0 0.5C
The orbital period of Mars is 687 Earth days. Then, the distance of Mars

from the Sun in AU is

[1 AU = distance of the Earth fr0ﬁ1 the Sun]

1. 15
2. 1.8
3. 22
4. 26
HITS I T el Jrafer gt & 687 ol & sraT &, 99 I § HITo I8
&1 gl AU # Tohel=iT §7
[1 AU = I & gt 1 5]
1: "5
2. 1.8
3. 22
4. 26
ALy
1

A2,
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Objective Question
47 702127 2.0 0.5C

Choose the INCORRECT statement from the following

1. The geoid is an equipotential surface

2. The reference spheroid is an equipotential surface

3. The geoid is an undulating surface

4. The reference spheroid and geoid refer to the same surface

frafaf@a & ¥ #i9 9T $ 794 §?

1. -39 (ST1-31TTS) Ush WH-TAe7e A &
2. HP M U GA-ANAT I8 &

3. -3 TF R g &

4. HATTE I 3R -3 U & Holg H Afdse e §
Al

1

A2y

2

A3

3

A4

Objective Question
48 702128 2.0 0.5C
The S-wave velocity for a material with Poisson’s ratio of 0.5 is

1. half of the P-wave velocity
2. equal to the P-wave velocity
3. twice the P-wave velocity

4. zero
QIS 30T 0.5 Tl fhell gea fr S-aerarfd gl g
1. P-aer arf & el
2. P-awrafd & ISR
3. P-dT I T =T
4. L
Al1
1
A22
2

A5

3
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Objective Question
49 702129 2.0 0.5C
Continent-continent collision zone is characterized by
1. shallow focus earthquakes
2. intermediate and deep focus earthquakes
3. shallow, intermediate and deep focus earthquakes
4. deep focus earthquakes
HETCEI-HETGHT THIT &1F o elafor 8ld &1
1. B0 Bled arer sy
2. FEIH AR G BIehd aTel §hYT
3. oo, AYTH 3R TR By arel T
4. dTgY BIHH dTel H{FHT
Ay
1
A2y
2
Ay
3
Aty
4
Objective Question
50 702130 2.0 0.5¢
The seismic phase which reveals that the inner core of the Earth is solid
is .
1. PKP
2. SKIKP
3. SKJKS
4. PKIKP
e AT e el TISC Sl & foh G2l & TR i 3F g2
1. PKP
2. SKIKP
3. SKJKS
4. PKIKP
Al
1
A2,
2
A
3
My
4
Objective Question
51 702131 2.0 0.5C
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In the absence of Earth's rotation, the flow of air in the lower atmosphere
will be .
1. parallel to isobars
2. parallel to isolines of pressure tendency
3. from high pressure to low pressure
4. from low pressure to high pressure
gedT & EOT & 3HTE H aTcTaior o forerel H19T H 9 &1 JaTg
gram|
1. ¥ & AN
2. e ygfd T FEREIHT & FATTR
3. 3TUCE ¥ 74 T &l 3R
4. YA H 3¢9 q H 3R
Al
1
A2,
2
A3
3
Ay
4
Objective Question
52 702132 2.0 0.5(
The magnitude of Rossby radius of deformation of atmosphere at 45°N
latitude is
1. 300 km
2. 3000 km
3. 6000 km
4. 10000 km
45°N 31&TIYT T ATgHS o fawqoT T G BT 1 aRAT0T grar
el
1. 300 km
2. 3000 km
3. 6000 km
4. 10000 km
Ay
1
A2,
2
s
3
i
4
Objective Question
53 702133 2.0 0.5C
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Objective Question
54 702134

Objective Question
55 702135
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In an incompressible atmosphere wave does not exist.

1. Kelvin

2. Rossby
3. Gravity
4. Acoustic

2.0 0.5(
Which of the following is NOT a state function for a non-adiabatic
process?
1. Enthalpy
2. Internal energy
3. Work
4. Entropy

o= 3 & T AT ITEEHTSH TThaT T IaEAT-Tolel AL &7
1. qUT 3
2. AR Fel
3. &
4. g

A3

A4

2.0 0.5C
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Which one of the following factors could reduce the formation of ground-

level ozone in an urban atmosphere?

1. Increased emissions of nitrogen oxides (NOx) from vehicles

2. Increased cloud cover during daytime

3. Higher concentrations of volatile organic compounds (VOCs) from
industrial sources

4. Higher ambient temperature during daytime

oY Qe aTaTaRoT & ERTAeNT TR & 3ol AT & HAl Fea 7 O
T AT FRE ol Gl &2

1. aTgdl ¥ ATSelele JTFassd (NOy) FT aftid Icgaa
2. Tt & |HY deell & TRV # gefar
3. 3fcAEes aidt & arsuRfier srefaes difEet @1 3Ta digor
4. %%Wﬂﬁaﬂrwwgmmﬁ
Al
1
A2y
2

Objective Question

56 702136 2.0 0.5C
A saturated air parcel rises in an environment with a lapse rate of 6.5
K/km. The parcel's lapse rate is 5 K/km. At 3 km, the parcel's

temperature is 0°C. What is the temperature of the environment at 3

km?

1.0 2580
2. -45°C
3. -3.0°C
4. 0°C

Ao I &1 UF W3 dTAaR0T 7 6.5 Klkm FT g1 X & 3UH FX @
gl WS g & 5 Kkm §1 3 km IR RIS &1 dT9AT 0°C §, ar 3 km

U ATATaXT &l dTIAT Tohdall 67
1. -2.5°C
2. -4.5°C
3. -3.0°C
4. 0°C

Al
A2

A3

3
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Objective Question

57 702137 2.0 0.5(
What happens to moist air parcel rising adiabatically?
1. It cools due to expansion
2. It warms due to compression
3. It becomes drier
4. Its temperature does not change
afe 737 AR 1 WS TEUSH-FT J 33T ¢ Y &1 gham?
1. TIEAROT & HIOT Ig ST gl STl 2
2. THYA F FROTAG I Y ST B
3. g YH g El
4. THH YA 9REfId Tt ¢
Ay
1
A2y
2
A
3
Ay
4
Objective Question
58 702138 2.0 0.5C

Wavelength of an atmospheric disturbance that exhibits wavenumber 4
over the equatorial region is

1. 1000 km
2. 10000 km
3. 5000 km
4. 15000 km

HALIET &1 & FIW AT &A1 4 A ared argasey  faeier dr

TJTEEY foarareT gref?
1. 1000 km
2. 10000 km
3. 5000 km
4. 15000 km
Al
1
A2,
2
A3
3

A4

Objective Question
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Objective Question
60 702140

Objective Question
61 702141
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Scale height of the Earth’s atmosphere for a vertically averaged
temperature 250 K is

1. 5.5km

2. 7.3km

3. 10.3 km

4. 6km

gedl & argHSS I fohd YATAT FETg 9X 3EATER 3 ardam 250 K 872
1. 5.5km
2. 7.3km
3. 10.3 km

4. 6km

2.0 0.5C
Restoring force that supports the existence of gravity waves in the
atmosphere is
1.  buoyancy
2. compressibility
3. rotation of the earth
4. sphericity of the earth

agHASH H IHedId AL o Hiecled  HeG A HeTdeh - EA9H
ccid

ScCalTaehl

adisaar

G v e

. g Fr aiend

2ooN

Al
A2
A3
A4
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Objective Question
702142

Objective Question

702143
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How much phosphorus is required to sustain a primary productivity of
1272 mg C m3d"'? (Assume Redfield ratio)

1 mmol L d*

1 umol L' d

1272 yig LV d*

106 umol L1 d!

2_Live_Earth_E_1-150.html

ol

1272 mg C m? d"! qrafies 3cureaar d FUROIIAT & foT BireRE &r
fohceiT AT 3TaRTeh g (YBthies TeIdTd HIeT o)?

1. 1 mmol L' d
2. 1 umolL'd"?
3. 1272 ug L d
4. 106 pmol L' d!

N
1
or
2
of
3
ra
4
2.0 0.5¢
The difference between the in-situ temperature and the potential
temperature in the ocean with depth.
1. is positive and remains constant
2. is negative and decreases
3. s positive and increases
4. is negative and increases
IENS & AT AFHRR & TAfds A9A T 3R 777977 ddaA & 7eg
IR
1. ellcH® gIdT & 3R [Had war gl
2. FHUNcAS &I ¢ 3R gear gl
3. YA g & 3R JeaT 8|
4.  HOTcH BIcT g IR ST |
N
1
=
2
oF
3
o
4
2.0 0.5C
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The solar radiation at a depth of 50 m in sea is 30% of surface radiation.
In that case the extinction coefficient is

1. 0.05m™
2. 048 m"’
3. 0.25m
4. 0.024 m"
A Hclg & 50 m 7 gRTS R @R-fafEor, | & |k fafor #130%
giar g1 31 & # ey aqorien gl
1. 0.05m"
2. 048m"
3. 0.256m"
4. 0.024 m™
ALy
1
A2,
2
Ay
3
Aty
4
Objective Question
64 702144 2.0 0.5C
Opal concentration in the sediments is high in the
1. equatorial Pacific and Southern oceans
2. equatorial Atlantic and Arctic oceans
3. Indian Ocean
4. North Atlantic Ocean
Haarer # 39 T JGoT AWF giar gl
1. HACAEY Tl 3R SEIol AgrmeRT A
2. AL vedllees 3N HThiees AgTHmRT 7
3. fgog AR A
4. 3 Uedllees AN H
Ay
1
A2,
2
Ay
3
Aty
4
Objective Question
65 702145 2.0 0.5C
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Eastern boundary currents are colder because they
1. carry deeper water to the surface
2. carry water from high latitudes towards equator
3. cause convective mixing
4. are winter season currents
odf HAT URTE 33 e § i
1. d gL UTell &l HAg deh of STl ¢
2. d 3T HATRIT & UTell &1 $TFea@r S 3R &t 8
3. O HageIT HIFASOT S g |
4. T MT FHI H IR
Al 1
1
A2 2
2
A3 3
3
A4 4
4
Objective Question
66 702146 L . 2.0 0.5C
In the oceans, subsurface secondary nitrite maxima are generated
by .
1. nitrogen fixation
2. anaerobic ammonia oxidation
3. nitrification
4. denitrification
HETHRERT # 3U-Adg! gfadidsd AScIse 3Tadl AT 3carigd
g |
1. ATSeratel FEeor &
2. 3argdy AT AifFgeor &
3. SATSCERUT ¥
4. Taemsdeord
Al 1
1
A2 5
2
A3 3
3
A4 4
4
Objective Question
67 702147 2.0 0.5C
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The thickness of sediment on seafloor at a place 200 km away from
spreading center is 250 m. If the sedimentation rate in the area is 5
cm/10? year, the rate of seafloor spreading is

1. 4 cmlyr
2. 5cmlyr
3. 20 cml/yr
4. 2.5cmlyr

YHIOT e A 200 km T g1 T HHEI-cTel TR 7adIG T 1 AleTg 250 m
g1 e 57 &7 H HaAIe T g7 5 cm/10° TN § Al FHE-cTol TR TAIT Y

g gl
1. 4cm/ay¥
2. 5cm/ay
3. 20cm/a¥
4. 25cm/ay
ALy

| 1

A2y

| 2

Objective Question
68 702148 2.0 0.5C
Precipitation of CaCO3 from the ocean leads to

1. reduction in dissolved inorganic carbon and alkalinity
2. increase in dissolved inorganic carbon and alkalinity
3. reduction in dissolved inorganic carbon and increase in alkalinity
4. increase in dissolved inorganic carbon and decrease in alkalinity

HETEERT & CaCO; & IHaaqor & grer &

1. gorerefier 3rhTaioes shielat A &TReRar 7 sy

2. goA=T2ier 3R ash et 3R &R F gefer

3. Yool 3hrefersh Slelst 7 HHT 3R &R 7 geftr
4.  goATeiel JehTdioleh hleiel H Jeier 3 &TRehell H Har
Ay

1

A2

| 2

A

3

Objective Question
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69 702149 2.0 0.5(
Microbial respiration rates decrease in the ocean with increasing depth
due to :
1. low abundance of organic matter
2. influence of Antarctic bottom water
3. high pressure and low temperature
4. complete darkness

HETAIRT  TES & 961 oh QY GEAsial 7 sl &3 & HROT
HYedral

1. qwlé@qw;.cqﬁqu-ugml
2. TUeTHhics doild STol &1 J8TTd
3. 3TUTE 3R 7 AgHeT
4. 9O IEUSER

ALy

1

A2,

| 2

A

3

A4

Objective Question
70 702150 2.0 0.5C

An ocean water sample has [HCO3]| = 1700 umol/kg and [CO%7] =
200 umol/kg. How much is the carbonate alkalinity of this water?

1. 1700 umol/kg

2. 1900 ymol/kg

3. 2100 umol/kg

4. 2300 umol/kg

fFE HETHIR & STel & FHA A [HCO5 ]| = 1700 umol/kg AR [C027] =
200 umol/kg &1 38 SToT T Frafec &TRSAT hdall 872

1. 1700 umol/kg
2. 1900 umol/kg
3. 2100 umol/kg
4. 2300 umol/kg
Al
1
A2
2
A
3
Ay
4
Objective Question
71 702151 4.0 1.3Z
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An unconfined aquifer has two horizontal isotropic layers. If the
thicknesses of the two layers are 12m and 15m and their respective
hydraulic conductivities are 8.6m/day and 5.2m/day, then what would be
the approximate equivalent horizontal hydraulic conductivity?

1. 1.60 m/day
2. 1.01 m/day
3. 7.09 m/day
4. 6.71 m/day

Tl 3R STefer 3 2y &ifclsl T & S GATad/3sael s ¢ i
ST Gl TART T ANCTS HALM: 12m HR 15m § TAT TosTalrd ATeTehdl HH:
8.6m/fe 3R 5.2m/fe & AT HAJT TelSTolI TTIshdT fehdaiT g19fr?

1. 1.60 m/day
2. 1.01 m/day
3. 7.09 m/day
4. 6.71 m/day
Ay

1
A2y

2

Objective Question
72 702152 . 4.0 1.32
If a body under a mean stress of 4 kbars requires a shear stress of 2.5

kbars for shear failure, the differential stress developed in the body is
kbars.

1.5
20
2.5
3.0

Ife 4 kbars & Had ufase & 3ided T H1T HI HTEIUT [ABerdr &
fIT 2.5 kbars & 39&90T Uided $I 3TaTHdr 9=dr ¢ ol 59 H T &

P03 haos

ICEARGREE FE R IGEL] gl
1. 1.5

2. 20

3. 25

4. 3.0

Al

1

A2,

2

A3
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Objective Question
74 702154

73 702153
Match the following:
Column | Column- |l
(Wilson cycle stages) (Examples)
A. | Embryonic P. Red Sea, Africa
B. | Juvenile/young Q. | Arabian Sea
C. | Mature R. Mediterranean Sea
D. | Terminal S. Basin and Range Province, USA
1. A-S, B-P, C-Q, D-R
2. A-P,B-Q,C-R, D-S
3. A-Q,B-R,C-S,D-P
4. A-R, B-S, C-P, D-Q
TFT T AT L
HicH- | et - ||
(Taea=T T T HTEUT) (3cT83OT)
A. | st P. | Srer @, 3nhieT
B TEOT/ET Q. | 3pg IR
C. |aRuea R. | spre amR
D. | s/ S. | 3R= AR T Wi, gvaw.
1. A-S, B-P, C-Q, D-R
2. A-P,B-Q,C-R,D-S
3. A-Q,B-R,C-S,D-P
4. A-R, B-S, C-P, D-Q
ALy
1
A2,
2
Ay
3

4.0 1.32

4.0 1.32

%

2
3.
4

what pressure,

1.125 GPa

11.25 GPa

0.1125 GPa
0.25 GPa
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In a pelitic bulk composition, biotite appears at 400° and 0.5 GPa. At
the rock will start metamorphosing under UHT
conditions? Assume the thermal gradient of metamorphism to remain
constant during the process.
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T gfaifes U Tgead H ardierse 400° 31 0.5 GPa WX Yahe glar g |
o 19 W g AT UHT hr g3t & 3ideTd TUIRA glaAT TRFEH & Sar?

UHT ATl of foh TATALOT shT ISHIT FauTar 8 LT FiehdT o a1 foiad el
1. 1.125 GPa

2. 11.25GPa
3. 0.1125 GPa
4. 0.25 GPa

1

2

3

4

4,
Match the critical metals with their ore minerals ’
Critical Metal Ore Mineral
A. |Li | Bastnasite
B. U Il Columbite
C. |La 1l Pitchblende
D. |Nb W% Spodumene

Choose the correct option.

1. A-ll, B-IV, C-l, D-llI
2. A, B-IV, C-ll, D-llI
3. A-lll, B-IV, C-ll, Dl
4. A-lV, B-lll, C-1, D-II

wifae (Tefearer) arg3it $r 3 Tilsr 3Tl & WY Aae #{
Hifcreh T gfas 3aes

A. Li | STerse
C. |La 1 e
D. [Nb V-
1. A-ll, B-IV, C-I, D-lll

2. A-l, BV, C-II, D-llI

3. A-lll, B-1V, C-ll, D-I

4. A-IV, B-lI, C-1, D-II

ALy
1
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A4

Objective Question
76 702156 4.0 1.3Z
Consider the five statements related to the figure depicting two Rb-Sr

isochrons, one defined by three metaigneous rocks A, B, and C
(Isochron-l), and the other by rock B and its minerals M1 and M:
(Isochron-I1).

BiSr/5Sr

(=

=

#Rb /S

P. Isochron-l dates igneous emplacement while Isochron-Il dates the
metamorphic overprint

Q. Isochron-Il dates igneous emplacement while Isochron-| dates the
metamorphic overprint.

R. Intercept X is the #Sr/%Sr ratio of the source.

S. Intercept Y is the 8 Sr/%®Sr ratio of the source.

T. Rock A may be mafic and rock C may be felsic in composition.

Identify the option that lists the correct statements.
R.L
, T

BWN
0IVOT

S
S
R
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7 3 gTC 31T gt Rb-Sr 31sdhled, o T did Aer3maag e A,
B, 3iX C (3ms&EmhIa-l) 3R gawr da B 31K 38 @it My 3R M
@msaER -1) & aRaa &1 g9 /vy # T arv 9ie &+ ) f[Jer
S|

B7grf5e5r

(=)

S7Rb /555y

P. SdIIA-l AT HATAYA &1 HTel TdIdT g Adeh MSAhI-I
FAAR ITAHGOT T HTel AT 2

Q. 3TSHIRI- || IFAT HTAEATIT HT HTl SdTAT § STa1h ITSHISHIA-|
AT R JTEIFHOT T HTeT T &

R. 3=d:@s X, Al & 87Sr/*0Sr &I 3uTd ¢ |

3Hecd:@s Y, | H 5 Sr/*8Sr T 39T B

T. d1 A v #fheh 3R A1 C v Hiods Tue HT 3eTeor |

»

39 faeheq &1 YgareT Hifolu o H el =T I FT 8|

1 PRT
2. Q,S, T
3. BiS
4. Q,R
Al
1
A2,
2
A3 5
3

Objective Question
77 702157 ; : . s ;s 4.0 132
A triangular block ABC is being explored for base metal mineralization.

If AB= 25m, BC= 30m, and AC=32m and the thickness of the ore body
intersected at A, B, and C are 4m, 5m and 8m, respectively. What is the
tonnage of the deposit (in metric ton) if the specific gravity of the ore is

4.957

1. 162.8 mt
2. 16.28 mt
3. 52.35mt
4. 523.5mt
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ABC T i @ # 99 4Tq & WiAstel I Wl 51T 6T 8| Ife AB=
25m, BC= 30m, 3R AC=32m § @21 A, B, 3iR C W ufa=afea srmes A3
T FHIETS AT 4m, 5m 3R 8m &1 T 58 31 1 fARISE 6ca 4.95
& o 3T ReIT FT 9K (eaiaT, e o7 ) g 872

1. 162.8 mt
2. 16.28 mt
3. 52.35mt
4. 5235 mt
Aly

1
A2,

2

Objective Question
78 |[702158 4.0 1.32
The following statements refer to two characteristic rock types of the
Precambrian continental crust.
I. It is characterized by a texture defined by crisscrossing sheafs of
acicular olivine crystals.
Il. It is originated by partial melting of mantle at greater depth (> 100
km) and extruded on to the surface.
lll. It may occur as layers in layered gabbroic intrusions or may form
large massifs essentially composed of plagioclase.
IV. It commonly contains aluminous bronzite.

Given the above statements, choose the correct option.

I, Il, and |V are about komatiite and lll is about anorthosite
| and IV are about komatiite and Il and Il are about anorthosite
| and Il are about komatiite and Il and IV are about anorthosite
| is about komatiite and Il, Ill and |V are about anorthosite

et bl
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T 7T U, NHTFI AGIEIdIT TUEr & ar Afawy 2hel & JhRi & faw

HE

l. I AR HiolTdeT foheeel & ST TAe 7161 (HIh) dTell Seiac
T gRART g g

Il. g 318 TEsaT W (> 100 km) AR & Roes & 3c9e 8idT &
3R Idg 9 3cA1d 81 1T &l

lIl. I TR Asigeh Jadesl H Teh FEI: Tolfordidols ¥ dl Fl &
9 H e Tgar & a1 eI cAfSdies § 9 ggd 3hR &
FIRMTE ae T £l

IV. S8 HAId: Tegfafaas sienge gd 2|
FW T T FHYUAT & TR W T fashed AT

1. 111, 3R IV FAfE3mse & IR 7 § 9t ||| vardfase F s 7 g1
2. 13RIV Hefesmse & R & § St |1 33 11| varifase & aR J g
3. 13RI FHAIfe3mse & IR # & FafF 111 AR IV vardfase F aR # &)
4. | FIHAICIHISE & IR & § At 11, 111 3R |V vardfase & IR 7 g
ALy
1
A2y
2
A3
3
Aty
| 4
Objective Question
79 702159 4.0 1.3Z
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The given sketch shows the mineral assemblage and textural relations
of a meta basic rock that experienced a single tectonothermal event.

Am+PI

(Grt- garnet, Cpx- Clinopyroxene, Pl- plagioclase, and Am- amphibole)
Consider the following statements.

A. Grt + Cpx constitute the peak metamorphic assemblage

B. The rock experienced eclogite facies metamorphism

C. The Am + PI reaction texture does not represent a symplectite
texture

D. The Am +PlI reaction texture require hydration during its formation

Based on the above figure and statements, choose the correct option

Only statement A is correct
Statements A and B are correct
Statements A, C, and D are correct
Statements A and D are correct

Prp B =&
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T U Aee@a AT & iAo T dd 3R 60 & Tdh Tahd 35HI-
et gea & 3regera i gufar 8

7
(Grt- 7Mfe  garnet, Cpx- FoBaAEIFAA  Clinopyroxene, Pl-

TaTaraFerer plagioclase, and Am- TFHIETET amphibole)
& a1 FYar W e #Y |

A, Grt+ Cpx ¥ TIART Tohelol I fATHT T
B. 3 & o TUIARA UFeitolige HeAeToll T 1gera o ¢
C. Am + P &I 31T Thar &ir 71asT, BFceiaerse o &l A& ud el didm

gl
D. Am +PI & 3fAfear i o FAOT F THT FTaArSteT HT T SHdr
g &1
X U 1T 2 3R el o IR 9 HeT [aehed gt
1. FAAPATATE &
2. HUTAINTBIE
3. FUTA C, IARDTEE
4. FITAIRD TG
Aly
1
A2,
2
A
3
Ay
4
Objective Question
80 702160 4.0 132
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Weathering of albite releases cations and anions in water as per the
reaction given below:

2NaAlSiz0g + 2C0O:2 + 3H20 = Al2Si205(0OH)4 + 2Na* + 2HCO3™ + 4Si0O2

Na* concentration in a water sample is measured to be 100 umol/L. If
90% of it is derived from albite, how much albite is dissolved in 1L of
water? (Assume molecular weight of albite to be 262 g/mol)

26.2 mg
23.6 mg
11.8 mg
47.2 mg

$ O3y &

AT feT 1T FHIRIOT o AR Todlge & TG A STl H 4T 3R
RO e g B |

2NaAlSiz0g + 2C0O:2 + 3H20 = Al2Si205(0OH)4 + 2Na* + 2HCO3™ + 4Si0O2

Stel & el FHa A Na* HIgUT A=l 9 AT 100 pmol/L IrT aram| afg
FHHT 90% Tedrse H oFcdeed g of 1L STel H ﬁm?ﬁwgtgﬁrgé
£72(TeaT3T T AT0gS AR 262 g/mol AT o)

1. 26.2mg
2. 23.6mg
3. 11.8mg
4. 47.2mg
ALy

1
A2y

2

Objective Question
81 702161 4.0 1.32
Which of the following is NOT a cause of Milankovitch cycles?
1. Changes in Earth’s axial tilt
2. Variation in Earth’s orbital eccentricity
3. Changes in the Sun’s energy output
4. Precession of the Earth’s rotation axis

T # @ iy AT TaT T3k 1 HROT 78T BT &2
1. g2t & 31efra 7o A aRadal &

2. gl i FENT Scdheadl H geoma §

3. I FHrFAT ScugEmar 7 IRadT d

4. gl & goie 3787 & WEROT A
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Match the events of the Quaternary period in column-| with their timings

in column-Il.

Column-I

Column-lI

A. Last Glacial Maximum (LGM) | P.

ago

300,000 — 200,000 years

Younger Dryas

1,170 - 770 years ago

26,000 — 20,000 years ago

B.
C. Medieval Warming
D Appearance  of

modern
Humans (Homo Sapiens)

Bl

12,900 — 11,700 years ago

Choose the correct answer.
1. A-R, B-S, C-Q, D-P
2. A-S,B-R, C-P, D-Q
3. A-P,B-Q, C-R,D-S
4. A-Q, B-P, C-S, D-R

FioH-| # TIT@T FaTeaLr Tl Sl T34 T THTeT DIdAH - || 7 3 THA-

el ¥ T

et -| HioTH -l

A. | 3ifqe A 3Taar (LeM) | P [ 300,000 - 200,000 a¥ 98

B. | 3ar g Q| 1,170 - 770 I§ &

C. |mezmfow s R.| 26,000 - 20,000 a¥ I&

D. | smyfers seral & 3ewmas | S- | 12,900 — 11,700 a9 g
(GEIGIRRE))

TET TR T AT P

2. A-S, B-R, C-P, D-Q
3. A-P, B-Q, C-R, D-S
4. A-Q, B-P, C-S, D-R
Al

1
A2,

2
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Objective Question
83 702163 . . . . . 4.0 1.32
Which one of the following combinations of sedimentary structures do

NOT occur together on a single bed?

1. Groove cast and convolute lamination
2. Prod mark and Wave ripple

3. Double mud drape and rain imprint

4. Desiccation crack and current ripple

7T # O i A NI AT T TSI Ueh T T Tk 1Y

Objective Question
84 702164 4.0 1.32
Which one of the following formations listed below dominantly

comprises of carbonate rocks?
1. Rohtas Formation

2. Srisailam Formation

3. Gulcheru Formation

4. Rabanapalli Formation

e & @ v ol & FEa: Fefde Ae ger 872

1. AgdrH BT

2. i o welie
3. UE B

4. qEA9cel BIHAT
Al 1

| 1

A2 2

| 2
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Objective Question

85 702165 4.0 1.32
Which one of the following microfossils occurs exclusively in marine
depositional environment?
1. Ostracoda

2. Diatom
3. Dinoflagellate
4. Radiolaria

%=1 & O T @ GeA-Sares Shad FHT HaoT arare’or # 91v Sird g2

1. 3ECeIET
2. SIucH
3. STAYFoloiele
4. @R
1
2
3

Objective Question
86 702166 . - 1 | . 4.0 132
A tunnel is to be excavated along the dip direction in a sandstone with

bedding attitude of 30°, 270°.

Parameter Rating |
A. | Strength of intact rock z
B. | RQD (%) 8
C. | Joint Spacing 10
D. | Condition of Joints 10
E. | Groundwater T

Given the ratings of the different parameters tabulated above, the rock
mass rating (RMR) relevant for the tunnel excavation (including the
tunnel adjustment) is

1. 42
2. 40
3. 38
4. 36
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T3 IR, foaehr T 3ifAgha 30°, 270° FATT &1 feem & v gIar
3G AT &

A. | 3rgfEg o & yderdr 7
B. | RQD (%) 8
C. |cftsAcaad 10
D. | gfratdrgem 10
E. | sporer 7

FR dRofigey fAffiee greel & HeJAd & AR Aol & GeTHATH HT

A (RMR) ST LT o Sc8elol o FHIA ¢ gram|
1. 42
2. 40
3. 38
4. 36
A

1
222

2
A3

3

Objective Question

87 702167 . . 40 L3
Consider the following statements

A. The mean velocity of flow in an open channel is directly related to
the hydraulic radius but inversely related to channel gradient and
roughness value.

B. Hydraulic radii is obtained by dividing the wetted perimeter of the
channel by the cross-section area of the channel.

Choose the correct option
Both A and B are true
Both A and B are false
A is false, but B is true
Ais true, but B is false

e Gy
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i@ Fy«r w feer fifew

A. TEH FAFd YOI H Yalg HI AL A $HS gadied Hsar &
IhATIUI TUT YUl T Gaurdl 3R Gl & #A &
SR AT &

B. gaarfaid ST &7 AT JOTel & 1 GRATT I JOTT HTEL-HIE &
8TAhel | TIsTITord Xeh Ted fohar 5T |heT &

e Aoy &1 g Hifsw
1. SATAIRBTEE
2. SATAIRBIITE
3. ATAdEWRIBEE
4. AVSTEWIB AT
Al1
A2;

2
A33
| 3

A4

Objective Question
88 702168 4.0 1.3Z

Identify the INCORRECT pairs

Till - glacial deposit

Tufa — limestone deposit

Ventifact — glacial erosion

Wind gap — Wind erosion

Yardang — streamlined by water erosion
Hamada — desert pavement

mTmMoow>

Choose the correct option
C,Dand E
B,Dand E
A,Band F
D,EandF

el L
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eI SIS &I GgdTed hITAT
A Ta - RAE 8T
B. TO - ol 9ceR fAeT
C. ddtthae - fRHET &ROT
D. Tz —argero

E. IE=T — oy &R0T ¥ 4RI AT
F. BAGT — ATEIeT 9y
e [aheq &1 T3 HIfaT
1. C,D3RE

2. B,D3RE

3. A B3RF

4. D,E3RF

Al1

| 1

A22

| 2

A.’)3

| 3

4.0 1.3Z
The following plot shows the relationship between stream order on X-

axis and the number of streams, channel length (L), mean value of basin
area (A) and gradient (G) on Y-axis.
1000

#
B Fd
,

2 A 4 2% | ¢
£ 100 . 2
= ;
g 5
@ ;1 c
E— -]
5 y
5 d >

=
2 ; e
E 10 vl v 5
= o
z L% p=t

e \\
7 - S,
\\\ D
1
1 2 3 4 5 6

Stream order

Identify the lines that correctly represent the relationship of stream order
with number of streams and gradient, respectively

BandC

Aand B

Aand D

CandD

e 0 B
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oo T X-3787 9T YRT & YUTTGIT (stream order) 3iIX Y-3187 UX &IRTHT
$r g&ar (Number of streams), YOIl FI oFaTs (L), 38T & &% &

HEIATS (A) 3R 9aoTdr (G) & FET GFaeel i gATar

Number of streams

1000

-
=]
=1

=

B .
Lol C | 3
L~ - - A -t
£ a2
N s
X[ /1 e
s m
7 N >
X -
AN )
i a
) o
kN
2 3 4 5 6
Stream order

3 3@ &1 9gaT HIfST AT GIRT & GUTTell 3R 9RT S &1 3R 9aurar &
FESET T HA: e &7 F 2 g1

1
2
3.
4
Al
A2
A3

A4

B3R C
A3RB
A3RD

C3iRD

4.0 1.32

At-a-station hydraulic geometry equations of a river give values of ‘b’ and

‘' as 0.27 and 0.62. What is the expected value of ‘m’ ?

T

2,
3.
4.

0.31
0.21
0.11
0.01

JTEATA X (At-a-station) AET & gaATeld SATHIART FHHION H ‘b’ IR
f' o #TeT 0.27 3R 0.62 T I1T| FH HTHR ‘M’ ohT e ATeAcl HTeT Tebictatt

N

Al

0.31
0.21
0.1
0.01
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4.0 1.32
Match the following
Column-I Column-II
A. Post-deposition changes in | E. | Speleogenesis
sediments
B. Soil formation F. | Orogenesis
C. Cave network development | G. | Morphogenesis
D Building of mountains by the | H. | Diagenesis
forces of plate tectonics
|. | Pedogenesis
Choose the correct option
1. A-H, B-l, C-E, D-F
2. A-H, B-F, C-E, D-I
3. A-C,B-l, C-H,D-E
4. A-G, B-l, C-G,D-E
Tora=t T T &Y
SlclH -| Hlerd -l
A | e ¥ oeard EwmEr #7 | B | aefasir (@ foaiemte)
gfRads
B. | 7er foAtor F. | ada
C. | w3t & et 1 e G. | smpfreee
D.  |we fada® et quddisr | H. | ydees
fA#ToT
.| Fererete
el [aFhey &1 II= HifAv
1. A-H, B-l, C-E, D-F
2. A-H, B-F, C-E, D-I
3. A-C, B, C-H, D-E
4. A-G,B-l,C-G, D-E
Al
1
A2,
2
A
3
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4
Objective Question
92 702172 4.0 1.3Z
Which one of the following hypsographic curves represents a landscape
with very low relief and a few isolated hills?
Ll o=
l‘ o '-.._\ h
I k0
1_! ~“ B \‘I
T e % |
s |V € = \
! 1
‘ kY
\
52
0
g alA !
1. A
2. B
3. C
4. D

Jerc T I AR Ll 872

e

h/H

P [
OO >

fAl
fAZ
{\3
{\4

Objective Question
93 702173

4.0 .3z
Consider the following assertion and reason 1
Assertion (A): Oligotrophic lakes in colder climate regions have high
dissolved oxygen levels near the surface

Reason (R): There is high productivity in oligotrophic lakes
1. Aand R are correct, R explains A

2. Aand R are correct, R does not explain A
3. Aiscorrect, R is incorrect
4,

Ais incorrect, R is correct
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o HAFUA 3R 39& FROT R [FaR HiGw
TR (A): frd STerary arer &= 1 3reaanlt sfiel & Tdg R gerareiier
TSI i AT 3TT BT 81

FROT (R): 3requrelr sficl & 3careandr 3if8es gidr &1

1.

2.
3. AEEIg, Raad gl
4. ATSTE, RTEEI

1

2

3

A 3 ROAATTE E 3 Afrcarear R star g
AR REAT T T 3IRA S AT R AET FaT B

Match the Column | with Column |1

Columnl|l Column i
A. | Podzol P. | Thick and humus rich A horizon and
accumulation of CaCO3 in lower B
or beneath B horizon
B. | Laterite Accumulation of soluble salts

2|0

C. | Chernozem

Az Horizon is light colored due to
removal of iron oxides and colloidal
humus by leaching

D. | Solonchak S.

Relative enrichment of sesquioxides
of iron and aluminum at or near the
surface due to removal of silica

Choose the correct option
1. A-R,B-S, C-Q, D-P

2. AR,B-S, C-P,D-Q
3. A-Q,B-RP,C-S,D-R
4. A-Q, B-P,C-P,D-S

1l
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FIAH | FT AT AT || T FY

HIaA | caceadll
A | qrssTer P | 318, e gav HER A 3R e
B HEAX AT B HER ahard CaCOs
T THA0T
B. |erwse Q. | gorerefier orquit T TeFOT
C. |=dfam R. | A BFaT @ wilg 3iTerarss & forseras
AR PSS e AT & Hefele §
HEHH Tl
D. | e S. e AR vRmE
JTFAFass FT gde & [Aee
qofecHs Fadar 3R fafeesr @
forsehTEeT
Y e ot
1. A-R, B-S, C-Q, D-P
2. A-R,B-S, C-P,D-Q
3. A-Q, B-P,C-S,D-R
4. A-Q, B-P, C-P, D-S
ALy
| 1
A2y
| 2
Ay
| 3

Match the Column-I with Column-II

Column-I Column-Il
A. | Heliophytes P. Plants growing in acidic soils
B. | Psammophytes & Plants growing under direct sunlight
C. | Chasmophytes R. Plants growing in sandy soils
D. | Oxilophytes S. Plants growing in crevices of rocks
Choose the correct option
1. A-P,B-S, C-Q, D-R
2. A-P,B-Q, C-R,D-S
3. A-Q,B-R, C-P,D-S
4. A-Q,B-R, C-S, D-P
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HTeTH-1 BT FrerH-1l T AT
Corops gl Pt -l
A. | Jradefie P | 3 a1 # 3erearer die
(8T se)
B. | sToriefae Q| & g & verer F Iereiarer ol
(AHPEe)
C. | Rrefe R | oot ey o 3ot arer oty
(AEHTHIET)
D. | sifrarsaivige |S- | Yot fr qInt & 39y areraier
Ter fashed T gATd HIfSIT
1. A-P,B-S, C-Q, D-R
2. A-P, B-Q, C-R, D-S
3. A-Q, B-R, C-P, D-S
4. A-Q, B-R, C-§, D-P
Al
1
A2y
2
A3
3
Ay
4
Objective Question
96 702176 4.0 1.32
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Following figures depict the annual energy balance for 4 climatic
types. The source energy flux density (on Y-axis) is normalized to the
maximum radiation (Rn). Months of the year are shown on X-axis. H
and LE refer to sensible heat flux and latent heat flux, respectively.

b AR TN 5
3 ns;__--.’/z’_. \.x;
E 00+ i
= i 1 i 1 1 1 i 1 1 1 1 A i
l._: WINTER SUMMER WINTER WINTER SUMMER WINTER
E Figure | Figure Il
-
(]
E 104
7] Rp
& ;
05+ B e s ey
o T, 8
//LE \\\
0.0 | iy
WINTER  SUMMER  WINTER R G
Figure Il Figure IV
Match Column | with Column Il
Column | Column ll
A. | Figl P. | Warm steppe climate
B. |Figll Q. | Arid climate
C. | Figlll R. | Tropical wet climate
D. |Figlv S. | Tropical wet summer and dry
winter climate

Choose the correction option

R & N =

A-R, B-S, C-Q, D-P
A-R, B-S, C-P, D-Q
A-P, B-Q, C-R, D-S
A-P, B-Q, C-S, D-R
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UR YR F STAarg3it i arfiies Foil deret @l foet fost & gafar arn
€| I & FoiT JaTg geicd (Y-3187 OX) F 3Taa# fafor (Rn) &
ATATIHOT FoHT 31T | X-378T IR aW & AGAT ol giar s=m g1 H 3R
LE Sher: Hded FSHT aTg 3R qccl IAT Jag &1 cdicish g |
(Relative energy flux density-?lT"—T&T ol 9dTg Uedcd; Summer-3TSH;
Winter-2fid)
%‘
Figure Il Figure IV
HictA-1 T PrerA-11 & Feme
oA | i I
A |RFI P. | o1 ®e9 SToraryg
B. |l Q. | ops Srerary
C. |fR=m R. | sorsfesti e Sreramy
D. | v S. | swmfedthy &7 afsA 3R
e 2 STearyg
el [ddeT 9|
1. A-R,B-S, C-Q,D-P
2. A-R,B-S, C-P,D-Q
3. A-P,B-Q, C-R,D-S
4. A-P,B-Q,C-§,D-R
ALy
1
A2y
2
A
3
Aty
4
Objective Question
97 702177 4.0 1.32
A and B are two stars of equal size and equidistant from the earth. The
peak wavelengths coming from A and B are 965 nm and 482 nm,
respectively. How many times brighter (in terms of energy) is the star B
than star A?
1. 2
2. 4
3. 8
4. 16
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AR B T FAT 3MHR & 21 dR G2l & U FA g0l W TAT &l A
3R B & 3 arair 2fiY SROTEES HAU: 965 nm 3R 482 nm &1 ARTB, dr
AT ToraTT F fohctet I[AT THBIAT (Foll & Hoesl &) glam?

1., 2
2. 4
3. 8
4 16
Al

1
A2,

2
A3

3

Objective Question
98 702178 ] ) i i 40 13z
Assertion (A): Upper section of a macrotidal estuary gets sedimented

due to ebb dominance of tidal current
Reason (R): Sediment entrainment and deposition depend on the speed
of tidal currents

Choose the correct option

Both (A) and (R) are true and (R) is the correct explanation
Both (A) and (R) are true but (R) is not the correct explanation
(A) is true and (R) is false

(A) is false and (R) is true.

P03 Mo

HADYA (A): TeEoaRIT SARACHT T S REAT SaRIT URI37 & rer
3Tcd | HGHIST &1 STl &

HROT (R): GATGT T TIEUT Ud [H&IT SaRIg SR &7 arel X R
FAT ¢ |

el fased I

1. 2 (A) AR (R) WET & 3R (R) WEY sATEAT §

2. g (A) 3R (R) &ET & 3R (R) & carear 761 &

3. (A)EEEIA(R) oA &

4. (A)ITera g 3N (R)WETE

Al
A2
A3

3

Aty
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Objective Question
99 702179 . . 4.0 1.3Z
Which among the following shows the correct arrangement of landfall

sites of the cyclonic storms from north to south since 20227

Remal- Biparjoy- Asani- Dana-Mandous
Biparjoy- Remal -Dana- Asani- Mandous
Dana- Asani- Mandous- Biparjoy-Remal
Asani-Remal-Biparjoy-Mandous-Dana

AFT A A FITA12022 F §Te TR W SAT0T A TshaTcll Il o 3 [HIROT
TATAT T Tl cFATedd e 67

B ha

1. A - [T - 34w - &1 - HgH
2. TIRSI - 3 - =T - 34 - HH
3. Gl - 374 - A - IRy - e
4. 3T - IS - WURSI - HH - &
1
A2,
2
3

A4

Objective Question

100 Jreatee Match the regions with the impact structures o

Region Impact structure

A. | Bundelkhand L. | Shiva

B. | Kota Plateau M. | Luna

C. | Arabian Sea shelf | N. | Ramgarh
D. | Buldhana O. | Dhala

P. | Lonar

Choose the correct option.

1. A-O,B-N,C-L,D-P

2. A-0,B-PC-N,D-P

3. A-N,B-M,C-0O,D-0
4. A-PB-L C-M,D-L
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e TITAT3T &l 30 &3 4 Harw

SE Huce TXTU

A | qerais L [ frar

) [ — M. | o

C.|3re &R 3uge | N- | w9

D. | qeamn ] p—
P. | Some

el [awed g |

1. A-O,B-N,C-L,D-P

2. A-O0,B-PC-N,D-P

3. A-N.B-M,C-0,D-0

4. A-PB-L C-MD-L

ALy

| 1

A2,

| 2

4.0 1.32
The correct sequence of bed forms, as the Froude Number decreases

from>1to<1,is

1. Ripples — Dunes — Plane bed — Antidunes
2. Dunes - Ripples — Plane bed — Antidunes
3. Plane bed — Antidunes — Dunes — Ripples
4. Antidunes — Plane bed — Dunes — Ripples

9 WIg T&AT >1 ¥ < 1 o Uedl g af &R [AAToT 71 i AT TEr e

€
1. a@r - Csar — AT GEcR- 9fa-feear
2. fesar — a@T — gHAA GE- gfa-fesar
3. FHJA GER- gfa-eear — feear — awer
4., yia-fesar — FHAd GFa— feear — a3
Al1
| 1
A22
| 2
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A4

Match Column | with Column Il

Column — | (DEM Product) Column-Il (Satellite)
A. | ALOS P. Endeavor
B. | SRTM Q. |Terra
C. |ASTER R. | TanDem X
D. | Copernicus S. | Daichi
T. Cartosat 3
Chose the correct option
1. A-R,B-S,C-P,D-Q
2. A-T,B-Q,C-T,D-S
3. A-S,B-PC-S§D-T
4. A-S,B-P C- Q, D-R

FIH | FT TAATT FiaTH-1l T FHY)

Hrete -| (DEM 3¢9TE) Srerd -1l (39918)

A. |ALOS P. |w3ax

B. |SRTM Q |

C. |ASTER R. |=27x

D. |srfaee S. |er<h
T |&efides

e Aoy &1 T Hifgw

1. A-R,B-S,C-P,D-Q

) PN 8 Mo o 48 ¥

87 A—%) BEEIC SBIN-T

4. A-S,B-P,C-Q,D-R

1

2

3
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Consider the following statements regarding Geoid, an equipotential
surface

Statement A: The gravity field denotes the rate of change of gravity
potential.

Statement B: The gravity field on the geoid is everywhere zero.
Choose the correct option.

1. Both A and B are valid, B can be explained by A.

2. Both A and B are valid, but B cannot be explained by A
3. Alis inaccurate, but B is valid

4. Ais inaccurate and B is invalid

Teh FA-[A3ET g, -3 & 9T H U 310 3=l W fTur Hifsw

FUT A: T[T &1, TTedIT [37a o TRacie & ax Pl 31aTed Ll o |
HY B: -39 & Tl TUTAT W O I[&eciiy &1 e 81|

1. A3RBEHT % § 3R A & garT B & a1Ear T 31 TFhcll §

2. AR B! a § 3R A & GaRT B ST SATEAT I AGT Sl AT Ahell &
3. A gefhIBAUR

4. AT g3IRB3EUE

Objective Question

104 702184 ; ; - ; 4.0 1.3z
A magnetic anomaly profile across a dyke-like body records a maximum

anomaly of 640 gammas and minimum anomaly of —-320 gammas. The

anomaly (in gammas) at a point above the position of the dyke is
expected to be

1. 480
2. 320
3. 0

4. -160

Teh TR (ST3h)-F9T 1 & IR-IR GFaehld 3T FIhIsel I Jifdrerae
T 9T TR AH T 640 AT 3R wgaAdd IETT 320 AT 15 7T |
srgeh AT FUfd & IR Rl fog 9 AT 39T & Al (AT )

Thar=TT grem?
1. 480

2. 320

3. 0

4. —-160
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Al
A2
A3

A4

4.0 1.32
(Fa, ga) and (Fg, gs) are the Free Air and Bouguer anomalies due to two

isostatically compensated elevated masses of thicknesses 1.0 km and
2.0 km, respectively. Then

1. Fe=Fa, ge=0a

2. Fe=Fa, gs=2ga

3. FB = 2FA, g = 29;\

4. Fg= 2FA, ge=0a

1.0 km 3R 2.0 km Hiers arer aaEfa® &9 & afagRa seatdaar
GEAATAT & FHROT Ieee Hebel AT AR -3 (Fa, ga) HR (Fs, g8) &,

Fe=Fa, ge=ga
Fg=Fa, g8 = 2ga
FB = 2FA, Js = 2gA
Fs=2Fa, gs=ga

PF-*’!\’.—‘%I

4.0 1.3Z
From the position of the maximum anomaly, the gravity anomaly of a

horizontal circular cylindrical body, at depth z, is reduced to one-third its
maximum value at a distance of

1. Z

2. V322
3. 2z
4. 32
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IeedH JdeTid T Fufd & z TS W AT goig dolhR S &
TewdId 3T 3 gt R Ueh faers I8 el 872

e}
1. Z
2. V32/2
3. #2Z
4. 3z
Al
1
2
A5
3

A4

Objective Question

107 1702187 4.0 1.32
A seismic wave propagates through a medium with velocity
perturbations (%) with respect to a reference velocity of 5 km/sec as
shown in the figure. The travel time residual (%) at the receiver R is

+2% +4%
5km| S » R
5 km 5 km
1. =05
2. -09
3. -19
4, -29

ICER:] 5km/secmﬁm?lﬁa?3ﬁﬁqﬁwmmﬁ'mﬂﬁ
&1 (%) aTel $hFUT aaT I GATAT 71T &1 e R W) ATAT 3y 3rafer

(98] somsensnsn &
+2% +4%
5km| S > R
5km 5km
1. =05
2. -0.9
3. =19
4. =29

Al

1

file:///C:/Users/Admin/Downloads/2_Live_Earth_E/2_Live_Earth_E_1-150.html 69/100


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Addai24

3/3/25, 1:40 PM

108

Objective Question

702188

A2
A3

A4

2_Live_Earth_E_1-150.html

GET IT ON
Google Play

4.0 1.32

Match the well log observations in Column A with their corresponding

causes in Column B

Column-A Column-B

P. Decrease in formation 1. | Wet, shaly sandstone
factor bed

Q. PSP 2. | Presence of gas

R. Decrease in neutron 3 Over pressured zone
porosity

S. Decrease in sonic velocity | 4. Increase in permeability

Choose the correct option.

Objective Question
109 702189
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it -A Hieie -B

P | wifers aoies 3 &elr L |aw, qe@d  aada
HER

Q. |[PSP 2. | 3y & 3ufeafy

R. | suela aiyar & wair 3. | yf-erfed &t

S. | aifere oty & ey 4. | gReer & gefr

el e e |

1. P-1,Q-4,R-3,S-2

2. P-4Q-1,R-2,S-3

3. P-4Q-1,R-3,S-4

4. P-1,Q-4,R-2,5-3

1

2

3

4.0
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A near surface earthquake of magnitude 4.0 is recorded by broadband
stations A, B and C which are located at local, regional and teleseismic
distance. Assuming the recorded event duration at the stations A, B and
C to be denoted as Ea, Eg and Ec, respectively, then

1. Ea>Ep>Ec
2. EA=EB=EC
3. Ea<Es>Ec
4. Ea<Eg<Ec
IRATT 4.0 aTel e TAg 3T H HHo@ [T 95 TUTHT A, B
3R C St wurEi, & 3R qregEdt gt o e € 9 fomam aram e
WF%FWA, B 3iR C 9¥ 3TH@T 3afey shael: Ea, Es 3R Ec

YEPa e, as

1 Eas>Eg > Ec
2. Ea=Er=Ec
3. Ea<Es>Ec
4 Ea<Eg <Ec
Al

1
A2y

2
A3

3

Objective Question
110 702190 4.0 1.3Z
The P-wave time data corresponding to an earthquake are fit with two

line segments having slopes p1=0.5 s/km. p2=0.33 s/km and intercepts
times (delay times) 7; = 0 s and 7, = 1.5 s, respectively, leading to a two
layered crust. Then, the thickness of the top layer is

1. 0.5km
2. 1km
3. 1.5km
4. 2km

$Th o & P-TIRaT o JHTeh0Y, JaUTAT3it p1=0.5 s/km 3R p2=0.33 s/km
AR ufcetes oy (Aeifead @7a) r, = 05 3 1, = 1.5 s arol g T@r@UsT
& @A € gfa-valig 99é &1 AT #d §1 a9 IUN-F B Al

Thasir grafr?
1. 0.5 km
2. 1km
3. 1.5km
4. 2km

Al

1
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A2

A3
A4

Objective Question
111 702191 4.0 1.3Z
Frequency effect measured in Induced Polarization survey is 0.20. If the

apparent resistivity computed at low frequency is 100 Qm, then what will
be the apparent resistivity at the high frequency measured in the

survey?

1. 80QOm

2. 83.330m
3. 120 Om

4. 120.33 Om

URE GdieioT Fderor & AT i geiTd &7 AT 0.20 & | T #geT
g oY HIOTT rATAT FfARIErHar 100 Qm g o 33 Feqor & 3=
Mg O AT SFATfae FIOIT FieRTerhal fShe=ir grefr?

1. 80 QOm
2. 83.330m
3. 120 Om
4. 120.33 Qm
Al
1
A2,
2
A3 5
3

Objective Question

112 702192 4.0 1.32
‘R’ and ‘T’ are the reflection and transmission coefficients in electrical

prospecting. then which is the correct sequence of minimum and
maximum values of R and T given in corresponding brackets?

1. R(0, +1), T (0, +1)

2. R(-1,0), T (0, +1)

3. R(-1,+1), T(0, +2)

4. R(0, +2), T (0, -1)

gfe ‘R HR T’ degd qdator 7 Wrade 3N IRIH IOTe ¢ dl dee]an
hIvaenl H fET 1T R 3R T & #ge7c# 3R 3Tucd Al & [T F61 5A Hiet
|E?

R (0, +1), T (0, +1)
R (-1,0), T (0, +1)
R (-1, +1), T (0, +2)
R (0, +2), T (0, -1)
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Al
:Az
A3
{&4

Objective Question
113 702193 4.0 1.3Z

Consider the following statements about Very Low Frequency (VLF) EM
method.

Statement I: VLF method has the highest depth of investigation among
EM methods based on EM induction principle.
Statement Il: VLF method uses the frequency range 5 kHz to 30 kHz.

Choose the correct option

1. Both statements are correct.

2. Statement | is correct but statement Il is incorrect.
3. Statement | is incorrect but statement Il is correct.
4. Both statements are incorrect.

sfa-=ga smafa (VLF) EM fafer & fawar & e syt o3 faam hifsie|
HYA 1: EM & 307 fagyia 3R EM faferat 7 VLF fafer & r=qwor
1 TS HfAHAH T

YT Iz VLF R 3 5 kHz & 30 kHz TR &1 3mgfr &7 39iter grar &1

el [adey &1 93 HIfev|
1. Gl 81 YT Hel 6
2. YT | T & fehad HUA || eI &
3. YA | I § oifehed U || TET &
4. Gt & U T B
1
2
3
S
4
Objective Question
114 702194 4.0 1.32
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Which is the correct statement about the origin of signals used in natural

source electromagnetic method?

1. Signals in frequency range (1 — 10* Hz) are generated by
thunderstorm while signals in frequency range (10 — 1Hz) are
generated by ionospheric current.

2. Signals in frequency range (1 — 10* Hz) are generated by
ionospheric  current while signals in frequency range (104 -1 Hz)
are generated by thunderstorm activity.

3. Signals in the entire frequency range (10~ — 10% Hz) are generated
by ionospheric current.

4. Signals in the entire frequency range (10~* — 10* Hz) are generated
by thunderstorm activity.

Iehideh I dega-grachrg fafer & Hehcll T et o fava # sl ar

FYA Bl 67

1. 1—10* Hz 3 I aTel Feohdl AT & STaifeh 10— 1Hz 3MgfT
ORTH dTel Hohd 31131 ST 8RT § 3c9e+ 81 o

2. 1 -10* Hz 39T W dTel Tehd 3T HSIT €RT H ST feh
10— 1Hz 3T R arel Fehel AfSTSTRT FHITIHT & 39T gl
gl

3. 10— 10" Hz T §#qOT 3T I 31T HSeld &RT & Sced 81
gl

4. 107 - 10* Hz T FFqOT 3T TRH AT BRan3it & 3cde gid
J

{\1
52
:A3
{\4

Objective Question

115 (702195 . . . 40 13
A gas-sand layer is overlain by a shale layer. Both the acoustic

impedance and Poisson'’s ratios for shale are higher than those for gas-
sand. Then, the AVO class for the shale-gas-sand interface is

1. Class 1
2. Class?2
3. Class 3
4. Class4
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T ST T & I AT W EARA &1 Al T Larferes gicdamer 3R
ISl 3TUTC Srelt & AF-STel & 3R ¢ | e, Ael-I-aTe] T HRATE
feTAVO T & &9......... J

e 1

CE

T 3

T4

.

Objective Question

116 702196 . ) ] ] 4.0 1.3
Seismic diffractions appear in stacked sections as

1. hyperbolae
2. parabolae

3. points

4. straight lines

RrchfRrer @ost o sereht Riader ... el gt B

1. Jfa-atgerit
2. UIderl

3. fawg

4. drdry@r

Objective Question
117 702197 4.0 1.32
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If the S-wave vector potential is given by ¥, then which one of the
following identities suggests that shear deformation preserves volume?

1. V- (Vx¥)=0
2. V-¥=0
3. VXVx¥=0
4, VxW¥=0

gfe ¥ I S-r o1 Tieer-fas1a grar 714 § a« A= & O i I gasaar
THT AT el § o 3T9%90T fashfd, 3marae s IRRfeTd I@ar 872

1. V- (Vx¥)=0
2. V'¥=0
3. VXVxXW¥=0
4, VYxW¥=0
Aly
1
A2,
2
A3
3

A4

Objective Question

118 702198 4.0 1.32
The auto correlation of a random signal with infinite length produces a

1. random signal

2. unit step signal

3. unit sample signal [(dn)]

4. asignal that is identically zero

3eAd AFSTs dlel TTE oo Hohd &l &Fad: Hg-TF e ......... Scaricd s

1. TEos Hohd
2. YfAe ug Hehd
3. gfeTe AHAT Fehet [(5n)]
4. OH Hehel ST Yo & HAA &
o
1
2
s
3
M
4
Objective Question
119 702199 4.0 1.3Z
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Consider a ring of air, initially at rest, around the equator moving
poleward with a constant speed 15 m/s. What will be the approximate
eastward speed when the air reaches 30°N? (Given the radius of the
Earth is 6371 km)

1. 130 m/s
2. 150 m/s
3. 70m/s
4. 30m/s

TS AT AT Todll il JRF A OUA Jaer & o1 R AT 3@T & 3774
UrH @ 4l AT 3R 15 m/s 1 779 arer & TfTA § R FaR fifsel @
a@ﬁ@mﬁﬁWWWMWWSWN%WW
£2 (feam o : gy & A== 6371 km)

1. 130 m/s
2. 150 m/s
3. 70m/s
4. 30m/s

Objective Question

120 702200 ; ’ : ] 4.0 1.3
What will be the approximate thickness of an atmospheric layer between

two pressure levels namely, 1000 hPa and 900 hPa having a mean
virtual temperature of 280 K (Given Rd = 287 J/kg K and g = 9.8 m/s?)

9256 m
760 m
1000 m
. 860 m

280 K aTel 3iga 3mHTET dr9AT=T & 1000 hPa 3 900 hPa & & gra-Eaii

& ST Toh AIPHSCII WA I AT AICTS fehdair gref? (fear arr g
& Rd = 287 J/kg K 31X g = 9.8 m/s?)

SRS

1. 9256 m
2. 760m
3. 1000m
4. 860m
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A3
A4

Objective Question
121 702201 . ) . 4.0 1.3
The angle between the effective gravity force and the Newtonian

gravitational force is maximum over

1. Equator

2. North pole
3. South pole
4. 45° latitude

FHTET AT gl 3N TS ATA IRcarhyoT o F HET FHIOT ...,

TR gl

1. AW W
2. SAOYIR
3. gl ya
4. A5° WU W
Al

1

2

A3 3

3

A4

Objective Question

122702202 4.0 1.32
Atornado rotates with constant angular velocity (o). Assuming constant

temperature (T) in the tornado and pressure po at a distance ro from the
centre of tornado, what will be the pressure at the centre of the tornado?
(R is specific gas constant for dry air)

Sl
- poewp ()
Po €Xp

2w N
=
=
o
]
D
/-"'--\/T-\r'"--\
E
b
Sk
el
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Teh SNfst Teh X 10N 397 (o) @ goier T 7T 81 T #1d gU
SeAst & &g A ro Y W TR AT9ATT (T) AT &1 po 8, A eAsT & gy
TR TS feheaT g1amr? (R s 31 & Tolv faflrse 34 forerdian @)

. poesp ()

2
2 pnexp(%
D ad
3. mew(-52)
2
4. poexp(-22)
ALy
1
2
3

Objective Question

123 [[702203 . _—— . : . 4.0 1.3
Consider 500 hPa geopotential field associated with a wavy disturbance

in the westerlies in northern hemisphere.

Choose correct option related to advection of relative and planetary
vorticity

1. In the region upstream of 500 hPa trough, advection of relative
vorticity tends to increase the local relative vorticity.

2. In the region upstream of 500 hPa trough, advection of planetary
vorticity tends to increase the local relative vorticity.

3. In the region downstream of 500 hPa trough, advection of relative
vorticity tends to decrease the local relative vorticity.

4. Inthe region downstream of 500 hPa trough, advection of planetary
vorticity tends to increase the local relative vorticity.
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A AMee # Tt 9+ & XA [IoTHt | S[3 §U 500 hPa & T 3
IEEERERTSCRINEAIT I

JolTcH 3R TET AR & fHagT @ Feafed FE fepeq & g

EAIELY

1. 500 hPa g1oft T 3URTATE URT & &1 H JolallcHh HiHageT HiFTdT,
T JAaTcHS HTAAAT & FgTeh &

2. 500 hPa gIofy hr IURUATE URT & 8T 7 TR HATHdT T HTHTE,

TUTA JelellcHn SATHIAT Bl Teldl o |
3. 500 hPa gIUt T IErydAlg URT & &9 H JellcHD H{HAdT P
3 TET, TURT Tof=lcHs HIATT I gerh g

4. 500 hPa gofy &Y 3T:9aE URT & 8T H T8I HTHTdT 1 JTAdg,
TR JolelTcoTdh Sfeerar I aerd o

Objective Question
124 702204 . . 4.0 1.32
A satellite sensor measures a radiance of 9.7 Wm2 um'sr' at a

wavelength of A= 10 um. Assuming the emissivity of the sea surface is
€= 0.98, what is the approximate value of sea surface temperature
(SST) in Kelvin that will be retrieved from the measurement?

Given: Planck constant, A = 6.626x10 34Js; Boltzaman constant, k =
1.38 x10 "2J/K; Speed of light, C = 3 x108 m/s

298 K
288 K
305 K
278 K

o0 D

TF d@eed 1= 10 um WX T 3998 Hdgd 9.7 Wm2Zum'sr' &
T fAfehor &7 AT #Tar g1 A g ddg H faforar <= 0.98
&, WG g A9A (SST) F1 Hfeaa & wfewde A, St A &
[SehIelr ST |@hdr g, 4T gEM?

fear ¢ vl T&RiF A = 6.626x10 34Js; deeraidd fERi® k = 1.38
x10 23J/K; wahrer &hr aifd C =3 x10%m/s

298 K
288 K
305 K
278 K

ol = B S
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:Az
A3
{&4

Objective Question
12; 703205 4.0 1.32
. What is the cross-isobaric wind induced vertical velocity at the top of
the Ekman boundary layer at 45°N, provided that the geostrophic zonal
wind varies by 10 m/s over 1000 km in latitudinal direction? (eddy
viscosity coefficient, Kn = 5 m?/s)

1. 2mm/s
2. 05m/s
3. 5cm/s
4, 2cmls

45°N W TFHA AT R & MY W IREAS-GAGE a IR 3t
atfer &R greft, sreref foF 3ratrefr faRm 31 1000 km & FoR s{faardr &gy
arg 10 m/s EART SEeIdT &7 (HAX TAAT T IO Ko = 5 m?/s)

1. 2mm/s
2. 05m/s
3. S5cm/s
4. 2cm/s
Ay
1
A%y
2
i
3
Ay
4
Objective Question
126 702206 1 1 v 7 " g F 4.0 1.32
Invoking potential vorticity conservation in northern hemisphere leads
to

1. manifestation of wave like pattern of easterly air current over an
orographic barrier on the leeward side.

2. manifestation of purely zonal flow without any wavy pattern of
westerly air current over an orographic barrier on the leeward side.

3. formation of gravity wave.

4. Sverdrup meridional transport.
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Icadr ey # TRufasr sfferar |@ator & any FEr ED)

aRuTT R B

1. "idudel f&em & o’ T Ydcdg aiem & I qdivda URT &
AT S gfawat & gegeafieor

2. wfagas fgem &1 R q&@dg Srer & FW GREHAT g9 4RT F
fo Tl adar gforeat & faeeer e sgra & wogafetor

3. & AN F Fefel
FEYT AT IRage

Al
,:«xz
A3
A4

Objective Question
127 702207 4.0 1.3Z

While deriving the mean average Reynolds equation of motion for an
incompressible turbulent fluid flow, identify the equation that does not
have additional terms in the mean averaged Reynolds equation of
motion.

1. Zonal momentum equation

2. Meridional momentum equation

3. Thermodynamic energy equation

4. Continuity equation

Th HENSHAIT YEeH g dgld & fav afa & Ay ted Wes
HHIEUT & Hdheld & THIT, 3T FHIROT Bl Ugdlel s I Ia
& AL A Fies TAIROT H IS 3T A =16l ¢

1. &H1g HAT FHGOT

2. IFEOCANT WA FHAOT
3. 3SHANIAS Sl FHHIOT
4. AT EHEBOT

All

| 1

A22

| 2

A33

| 3
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Objective Question
128 1702208 4.0 1.3Z

The maximum possible ratio of the normal anticyclonic gradient wind
speed to the geostrophic wind speed for the same pressure gradient in
the northern hemisphere is

1. 8

2. 2

3. 4

4. 16

Icall Moy H AT &9 YdUidT & [oU AHT Siddshdid 9aoTdl
arg aifa & {faetdr arg aifay & STadw FAad e Bl
gl
1. 8
2. 2
3. 4
4. 16
Aly

1
A2,

2
A

3

Objective Question
129 702209 . . . 40 132
Consider a large ice sheet where surface temperature remains at the

freezing point. What is the rate at which the thickness of the ice sheet
decreases owing to the surface melting if the ice sheet were subjected
to an additional downward heat flux of 5 Wm from the atmosphere
associated with global warming?

(Density of ice, pi=0.9X10° kg m3; Latent heat of freezing ice, L= 3.34

X10°J kg™")
1. 0.5 mlyr
2. 0.2mlyr
3. 1mlyr

4. 0.01 mlyr

U §3 ffH WX el Hag auAe war ffAw fig W war § W
far #1| afe ARFw FvA0T § FEfd agAsaT @ v Hfaled 5
Wm=2 & 3TETAET FSAT 9a1g F B A6 i THT H =T 31T, T8
ITeleT & HRUT BH AT A Ales & HAr F1 & s gem?

(f&#r =etea, pi = 0.9X10° kg m3; RATASHT g1 &a & o FoaT, Ly
=3.34 X 10°J kg ™)

0.5 mlyr

0.2 mlyr

1 mlyr

0.01 m/yr

e Iy e
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Al

A2
A3
A4

3o oo
Estimate the sea level rise due to the thermal expansion for a 2.5°C
warming of a 4.5 km deep ocean.
(Thermal expansion coefficient is 1.5X104 °C")
1. 1.3 m
2 15m
3. 1.7m
4. 19m
Teh 4.5 km T FAG FT 2.5°CH A & v drda 58R & FHROT

HHG A 3cU & 3Tehele
(AT JER JOTE 1.5X104 °C" §)

1. 1.3 m
2. 15m
3. 1.7m
4. 19m
ALy
1
A2y
2
i
3
Ay
4
Objective Question
131 702211 4.0 1.32
Assume that the sun is directly overhead and is at zenith. Choose the
INCORRECT statement.

1. Single scattering albedo of the aerosols (w,) is same over ocean
and land

2. Albedo of the underlying surface (As) is same over ocean and land

3. Incident solar flux (Fo; Wm™) is same over ocean and land

4. Transmittance of the atmosphere (Ta) is same over ocean and land
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A o & g @ X $ 3R vd RRING | B Tad 9 H Lo
1. HAG Td T & I WHIA & Ueheh Uieholel Rafd (wo) AT
gl
TG T4 TUA & FR e Aqe H Rafd (A) q# = &
THG Ud TS & W AU G Farg (Fo; Wm2) T g
THe Ud TYA & FW APASA & GREEd (Ta) TAA &l
Ay
1
2
A
3
Ay
4
Objective Question
e “Aliasing” error occurs while solving the equation e
1. a@% =7 % (wave equation)
2 % = -—ug—z (one dimensional advection equation)
o aa—j = —Au (Dissipation equation with A as constant)
4 % = —F (x component of Newtonian equation formation with F as
external force)
‘wferanfder Ffe FHIGROT & gol o FAT giell ¢
1: 3271: Voo % (LT FHTRI)
2. Z=—uZ(vw A Hage THRON)
3. = —Au (ATRRI® & WY 6T FHHO)
4. T =—F (FaEd 308 & WY =gAferas @feor Ao & o«
HC®)
Al
1
2
Ay
3
Ay
4
Objective Question
133 702213 4.0 1.3Z
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Choose the INCORRECT option.

Spectral models are preferred over finite difference model due to

1. handling of aliasing arising due to quadratic nonlinear term.

2. all higher derivatives are exact in spectral models

3. Polar singularity is automatically taken care of in the spectral

models
4. Spectral models require less configuration time

Ield fashed I |

gRAT IR Al ¥ SIET TUFCA ASAT I IRIAT &f AT &, FAMH

1. Sfurde 3N 9g & HROT §U AR H Jae |

2. T Hisel # Tl 3T GcUel U |

3. TC AlSell # YT Tholdl HT Tac: T F WA gIell
4. W Alsd s ey a7 38T &=a &

Al1

| 1

A22

| 2

I

| 3

Objective Question
134 1702214 1 | . 4.0 1.32
The total wavenumber (m™") of a stationary barotropic Rossby wave at

45° N embedded in a westerly mean flow of speed 15 ms™' is

1. 10%m™
2. 10°m!
3. 10"m™!
4. 10%m!
15 ms! & gRgAT aa sg@ & gEaRa 45° N W e &R e
T AT AT & Fol aer & (m') grar g1
1. “10%m~
2. 10°5m!
3. 10" m™
4. 10*m™
ALy
1
A2,
2
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A4

Objective Question
135 702215 4.0 1.3Z
Which one of the following is NOT correct regarding oxygen isotopic

composition (5'80) of foraminifera?

1. 8"0 of benthic foraminifera shows glacial-interglacial variability

2. The difference between 3'®0 of planktic and benthic foraminifera
is greater at high latitude

3. The difference between 50 of planktic and benthic foraminifera
is greater at low latitude

4. The 80 of planktic foraminifera is more negative than that of
benthic foraminifera

BRITACERT & 3FaeT FHEATNS Tigdr (3'%0) & Fafad s &

i eI ARL 872

1. AdeEy BSRIAART 880 RAAGI-ARIeAd6T IRadal &l
e &

2. 3T AT W Tolghd Ud [Adeed BRIAAT & 880 & &I
3 AT glar &

3. @& 3emit W vagsha va Faeey BRIAAT & §'%0 & &
3 37aT g1ar &l

4. TATATT BRITASIRIT & ST SAdehid BIRITAATET & 8180 318
FHOTcHAS 8l &

Al

| 1

A2,

2

A

3

Ay

.4

Objective Question
136 702216 4.0 1.3Z

Unsorted sediments of large grain size variation without fabric are
volcanic marine sediments.
turbidities.

windblown sediments.

e N

ice-rafted sediments.
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Objective Question

13 0221
B e Which one of the following does NOT represent cold periods?

Dansgaard-Oeschger Events
Heinrich Events

Younger Dryas

Bond Events

gTH ¥ HiaT T T FaIt 1 FfAfAfed el T 872

FoO¥ D X

ARG geArd
Jar g
S8 g

-~ aali A =

Objective Question
138 702218
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Which one of the following values of oxygen isotopic composition (5'0)
is NOT possible?

1500 %o
-1500 %o
1%10% %o
— 500 %o

SH ¥ P Te FTAd TATATAG FAIS (8'80) T A HHT
el 82

Lol e e

1. 1500 %o
2. —=1500 %o
3. 1x109 %,
4. —500 %o
ALy

1
A2,

2
A3 5

3

Objective Question
139 702219 . - . 4.0 1.3Z
In the ocean, if the characteristic velocity and length scale are 10 cm/s

and 100 km, respectively, then choose the correct option [given Coriolis
parameter f = 10-*s™', Angular velocity of Earth = Q]

1. Rossby number is 10°'Q and inertial force dominates the flow
2. Rossby number is 10" and inertial force dominates the flow

3. Rossby number is 102Q and Coriolis force dominates the flow
4. Rossby number is 1072 and Coriolis force dominates the flow

¥z A, Ife TRV 91fq vd Se1$ YA HART: 10 cm/s T 100 km &,
a9 Fer Y e [T I § : AR Ames f=104s, gzt H

FIoiT 91fd = Q)
1. UFET FE&I@m 10°'Q g, v9 9819 W S5 9 99 (@Al &
2. UL & 107" E, U9 9819 W S5cd g aued @dl §
3. & §&AT 102Q 8, U9 9819 W HIAoE g auEd @dr gl
4. €Y gEAr 102 §, Ud d9gd W HIRENOT g ausa @ar gl
Aly
| 1
A2,
2
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A4

Objective Question
140 702220 4.0 1.3Z
Observed current at an ocean mooring in the northern Bay of Bengal

(18°N) shows 30-days periodicity. The mooring is located at the interior
basin away from the boundary.

Choose the correct option

1. Kelvin wave forced at the equatorial Indian Ocean can contribute to
the observed variability.

2. Rossby wave forced in the eastern part of the basin can contribute
to the observed variability.

3. Both Kelvin wave and Rossby wave cannot influence variability at
the location.

4. Rossby wave can influence, but Kelvin wave cannot at this location |
Scoll ST T @iST (18°N) # Ush THST al-aer WX Yféld &rr 30-
et & smafdar feardy &1 @ & g7 naies afge w Atau Fug
gl

gl fased ol

1. Y ffee AEAPR W Hfead aeT & g TANT A& Feetar
¥ foT gt &ar gl

2. I8 & qdf T # TE G & g gA@er W@ Afeaar &
T AT &ar gl

3. 3 TUH R Hhicas aldT TF JEST 9T el ATHe=dl Sl FIad
el T Tehcl|

4. 3¥ VA G UE T GHIfAd HT Fhl B, W dfedsd aldl
gsTfad 8T & FhdT ¢

Al
1
A2,
2
M3
3
a2
4
Objective Question
141 702221 4.0 1.32
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Assume westerly winds increase with latitude in an oceanic region in
northern hemisphere and meridional wind is zero. Provided other
conditions remain the same, choose the correct option.

1. Thermocline shallows and surface chlorophyll increases
2. Thermocline deepens and surface chlorophyll increases
3. Thermocline shallows and surface chlorophyll decreases
4. Thermocline deepens and surface chlorophyll decreases

AT o Scall Moy & Toh THT &1 & 36T & |y giRuedl gaet
gedl § Ud AT 9ae e @11 §erd |l HaRu ®@AE T,
el e ge|

1. @9 YaoTdr 3 gl § Ud Hdg 9oieRd sedr Bl

2. A9 JAUTdT G BT § UG HdE IUERA S6dT &l

3. a9 Yaurar 346 BT & Ud "dg gvieRa gedr Bl

4. @Y YEUTAT G BT § U HAg YUIERA ©ed gl

Objective Question
142 702222 4.0 1.32

. EICC (East India Coastal Current) is strongest and

Poleward during Boreal Spring
Equatorward during Boreal Spring
Poleward during Boreal Summer
Equatorward during Boreal Summer

EICC (Jdf $IRa d&id 4NT) Had Holgd gl g Ud

1. SRS a6d & R Yo 1 3R 3 g gl
SIS S8 & SR favad &1 3R AFHE g1 g
SRSt AsH7 & ek 4o H AR AP gd gl
af3rer A & et fayaa 1 3 3fFgE g gl

ol g

nali
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Objective Question

143 702223 i 3 4.0 1.32
Consider the following statements about Ekman transport

Statement A: Ekman transport is always 90° to the right of wind stress
in the northern hemisphere, where the Coriolis parameter f is negative.
Statement B: Ekman transport can lead to upwelling and not
downwelling.

Statement C: Ekman transport can give rise to upwelling through the
blowing of winds near the equator.

Choose a correct option

1. OnlyAis correct
2. Only B is correct
3. Only Cis correct
4. All the three are correct

. TFAT Iagd & dR) H & Fydl W &TuR 1

I A: 3call Mo F vFA qRaga der arg gfdee & arfger 90°
W BT g, STel HIAed ATIEs f HOMcAS aidl ol

FY B: TFHAT IRIgA 3c&Idul & §¢/dl odl & U FUEIIoT &f
el

%Y+ C: faYad & HHIT §aT & lhl GaRT TFATA TRAGA 3c&3doT i

3ol AT Bl
el fashed @l T
1. FadA TE &
2. $AABTE &
3. HaaCHE &
4. Tl AT T E
My
1
2
3
S
4
Objective Question
144 702224 4.0 1.32
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Based on the given statements, choose the correct option:

Statement A: Marine phytoplankton are controlled by nutrients, light,
and vertical stability of the water column, but not by CO2 concentration.
Statement B: The Biological pump does not sequester any
anthropogenic carbon.

1. Both the statements are correct, but A does not explain B.
2. Both the statements are correct, and A explains B.
3. Als correct, B is incorrect.
4. Aisincorrect, B is correct.

e T FYEr & IR ) F@E fAdhew o

FYTA: HHAT TIGHColdeh GIRIhI, TehTel, U STof FsT I Sealer [Euwdr
ganT R @ &, W CO, Higdr ganT =7l

FYA B: HfIF 99 FIS ATGSITAT FIeeT FT FTAGOT AT FAT B

1. el ®UT WE ¢, W] B T caredr A=El i gl
2. el YT T §, W B H sAEA;T AFIT g
3. ATE & BIwd &l
4. A7ST &, B e £l
1
2
3
4

Objective Question

145 702225 . o ] ] ] 40 13z
Considering similar physical states of the sea, which one of the following

oxygen profiles indicates the highest primary production at the surface?

OymiL? 0,miL? o;miL? O,mlL?
0 15 30 45 &0 o 15 3.0 45 6.0 ] 15 3.0 45 60 0 15 3.0 45 6.0
o L R d L1 & [ 4 L1 |
A B B BT LRI D
500— 500~ 500 s00— |
]
o g 2 9
o =2 2 12 '
= 1000 = 1000 2 10004 = 1000!
3 3 2 2 v
1500~ 1500 15004 ) 1500=
2000 2000 2000 - 2000
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'] 1.5 30 45 6.0 ] 1.5 3.0 45 6.0 o 15 30 4.5 6.0 1] 15 3.0 4.5 60
0 1 | I 0 1 | o ] 1 1 0. | 1 1
i ] { et — B " D e
- . e IJ..
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Objective Question

146 702226

4.0 1.32
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In the stratified temperate ocean, phytoplankton bloom progresses with
seasonality. Below four different bloom scenarios are shown along with

nutrient level (dashed orange line). Select the correct sequence of the
bloom from winter to summer.

A, Nutrients/Chla > g, Nutrients/Chla

i

=

Depth
Depth

C Nutrients/Chl a - D. MutrientsfChl a

=

Depth
Depth

A—-B—->C->D
Bo-C—-o>A—->D
D—-A—>C-—>B
C—-B—-D=>A

T =

. FARPA FAAAST THg H UeUcelds Thood HFH & Y 37T
gedie| AT U TR (AT ARET @) & ary ar Aafdesd
ool aReeAl @I @ ar gl M & dAcA & T dedd &
er W ﬁ' qﬁnﬁl (Depth-3TETS; nutrient-grse; Chla—quéﬁﬂ' )

A =nts/Chla - B Nutrients/Chl a —
] 1
\ \
= g = -
(=18 [= %
& A & "\
l | 1
: I
-I L I
!
I
I 1
: |
|
1 p
C lutrients/Chlg — p. Nutrieni /Chla -

Depth
-
Depth

A—-B—>C—->D
Bo-C-o>A—->D
D-A—-C—>B
Co>B—->D—->A

g G401 N
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Objective Question

147 702227 - : : : 4.0 1.3
ALL members of which of the following sets of marine organisms do

NOT use silicon to make their skeletal structure on cell wall?

Diatoms, Silicoflagellates, radiolarian, sponges
Coccolithophores, diatoms, polychaeta, dinoflagellate
Pteropoda, foraminifera, radiolarian, sponges
Foraminifera, dinoflagellate, coccolithophores, polychaetes

U gv # @ frw Gy Shdl & wogead & @l weey fAfowla &
3UART 39 R BT ) Faa TOT 99 & @8 g 87
1. 3IcH, RAaaiTaaee, RIRT, T

el ol Al

2. PIHITAATHIT, SACH, Ulollehlel, SIATFoI ST
3. &GIET, PRITAT, IR, T
4. BRITAATRT, STIAIFoloTele, FIHITTATHIY, TToilehieT
1
2
3
M
4
Objective Question
148 702228 4.0 1.32
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Considering the influence of light in the ocean on primary production,
how the responses of primary producers to increasing light level would
be ? (PAR: Photosynthetically Active Radiation)

100

&

@ f an .

2 2

£ £

£ £

& =

£ 50 2 50

2 :

s a

2 2

2 z

€ g = 0

PAR - PAR

100 100

P C. - D

§“ -EE

2 50 g 50

.‘02 o

o o

= =

& 0 & 0

PAR - PAR -

Choose the correct option

A
B
C
D

it S

TG H WAHAS Sedae T TR & 9T R IR Fd gV, T6d §U
U1 TR & ToIT UrAfHe 3caigent @l Uidfshar $ar geir? (Relative
Photosynthesis-AT9&T ehlel HWWOT; PAR: Yehrel H2Woig afeha

100 100
a0 & an 5
v v
E 50 E 50
-] 5
s A
k- =
& 0 & 1]
PAR— PAR
100 100
2 : - D.
2 2
£ B
8 s0 850
2 2
2 2
= &
g p & o
PAR - " PAR-
1. A
2. B
& B
4, D
ALy
1

A2

file:///C:/Users/Admin/Downloads/2_Live_Earth_E/2_Live_Earth_E_1-150.html 97/100


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda2477

3/3/25, 1:40 PM 2_Live_Earth_E_1-150.html

A3
A4

Objective Question
149 702229 4.0 1.3Z
Choose the right option showing the correct combination of various

oceanic parameters (Column |) and their respective measuring methods

(Column II).

A | 1] B | 1}
Phytopigments | ADCP Phytopigments | HPLC
Phyto cell Flow Phyto cell Flow
density cytometer density cytometer
Ocean currents | HPLC Ocean Radiometer
PAR Radiometer currents

PAR ADCP

C | | D | 1
Phytopigments | HPLC Phytopigments | Radiometer]
Phyto cell Flow Phyto cell ADCP
density cytometer density
Ocean currents | ADCP Ocean currents | Flow

cytometer

PAR Radiometer PAR HPLC

1. A

2. B

3 €

4. D
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THAT URT HPLC THAT URT ICIEZCICIE]]
PAR i PAR ADCP
C I I D I I
qey ISt HPLC qey ISTh TafecoraTdy
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PAR HPLC
1. A
2. B
3 ©
4. D
My
1
2
3

4.0 1.3Z
Which of the following biological processes occurring in the ocean leads
to the production of oxyluciferin?

Anaerobic ammonia oxidation
Methane oxidation
Bioluminescence

Nitrite oxidation

Wﬁﬁmﬁ%éﬁmaﬁﬁaﬁa@ﬁamﬁ
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Ade 3iffegeor

Sg-wéifea
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